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UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 2 EDUCATION QUESTION PAPER

Topic:- Education_S5H2_SHAAN_NOVZ1A

1) Which of the following terms best indicates the intent of a qualitative research study?

faafarfag F § 17 97 459 TF TUTEHE T Te799 & T Fr Mg swarg ?

[Question ID = 509][Question Description = 52_q5Nz_PG_EDU_QO01]
1. Explanation/=am&qT

[Option ID = 2033]
2. Prediction/qaigam

[Option ID = 2034]
3, Exploration/s==gm

[Option ID = 2035]
4. Estimation/sTshaqg

[Option 1D = 2036]

Correct Answer ;-
e Explanation/=rEdT

[Option ID = 2033]
2) A variable which potentially influences the outcome of a research study, but cannot be directly observed and
controlled, is known as:

THF AT AT G ©0 § oF 97y F2997 F ofonm 1 vqrida seav 2, 9w gf voyy w04 Sgr s g i a8 frar s
HHATE, T T T H JTAT ATAT &:

[Question ID = 510][Question Description = $2_qSNz_PG_EDU_Q02]
1. Attribute variable/=T=® 9%

[Option 1D = 2037]
2. Confounding variable/9T9% 9%

[Option ID = 2038]
3. Moderator variable /aH{==ms =¥

[Option 1D = 2039]
4, Concomitant variable/sgadi 9%

[Opticn 1D = 2040]

Correct Answer -

e Attribute variable/3aT=s <
[Option 1D = 2037]

3) A teacher gave a test to 50 students of his class and awarded letter grades A, B, C, D and E, to indicate their level of
performance in hierarchical order from best to the poorest, Which of the following combinations of scales of measurement

has been used?

o forars & o FATH 50 FTATFT 08w A e IvE T, 1, Y, € e € fuur, OV PR awd -8 @ AN FUH IR
yagT # T Fr xuiar § Frefiya § 8§ few oo sy §9s 51 w3 frarwar 22

[Question ID = 511][Question Description = $2_qSNz_PG_EDU_Q03]
1. Ordinal and Ratio scales/®a= 3 FITT AT

[Option ID = 2041]
2. Nominal and Interval scales/aTiie iz sigw= Arq—t

[Option ID = 2042]
3. Nominal and Ordinal scales/aTiHT 2T FH=F AT

[Option ID = 2043]
4. Interval and Ratio scales/sir= &% ST9Td ATTHT

[Option ID = 2044]

Correct Answer ;-

¢ Ordinal and Ratio scales/®aga® T STa AT
[Option ID = 2041]

4) A historian conducts a research study to develop biography of a social reformer and publishes it in the form of a book.
Tha study conducted by him mav be called:
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TF FIAGTAFIT TF GATT LUTF FT 147 (w7 77 & ¥ uF oy 75797 argrivrg F397 2 i< 38 7oa® & €7 F vwifarg
FIATE ITD FTU THT T A9 FT FET ATHHAT 5

[Question ID = 512][Question Description = §2_qSNz_PG_EDU_Q04]

1.

An ethnographic research/ T ToTiaaT 9Te

[Option ID = 2045]
A phenomenological study/SZATeHF FAeTdq

[Option ID = 2046]
A grounded theory research/ T wT3sg g oy

[Option 1D = 2047]
A narrative study/ U SeTomeT segq

[Option ID = 2048]

Correct Answer :-
& An ethnographic research /T ToagT 44

[Option ID = 2045]

%) The essential element of distinction between the concepts of 'pedagogy’ and "andragogy’ is:

fararr-arrer o 9 forarr gorrell &Y srgrgreos # A9 S Farsrarverw g s
[Question ID = 513][Question Description = $2_qSNz_PG_EDU_Q05]

1.

Methods and approaches used in teaching/farerm & ww  fafaat div Tovme

[Option ID = 204%]
Role of previous life-experiences in learning/=1e T ¥ q= s{taATAaT il qiH=Hr

[Option ID = 2050]
Socioeconomic background of learners/ sTERTa=aT &1 ATT4=F-HTHTF T2giH

[Option ID = 2051]
Degree of growth and maturation/®efg i TimgaT w1 @

[Option ID = 2052]

Correct Answer ;-
e fethods and approaches used in teaching/ e & yq=r =TT i< IummH

[Option ID = 2049]

AT TE AT 76 (L FATHT (CCIE) T wfagf® a7 fros sarggas aes g 7

[Question ID = 514][Question Description = $2_qS5Nz_PG_EDU_QO06]
1.

Summative Evaluation/dF=+Tcas =214

[Option ID = 2053]

2. Diagnostic Testing/==T= wferor

[Option ID = 2054]

3. Formative Evaluation/T=-To0® HrAT5

[Option ID = 2055]

4. Placement Decisions/Frafes weamdt Frofr

[Option ID = 2056]

Carrect Answer ;-

® Summative Evaluation/dF=aTcdS JeaTsm

[Option ID = 2053]

6) Continuous and Comprehensive Internal Evaluation (CCIE) and feedback mechanism are the essential components of;

7) The most important instrument used in the process of competency based evaluation is :

TITAT AHTILT [FATFHA K1 TA(HAT A TLF 999 A5@L0 STFIW 8

[Question ID = 515][Question Description = §2_qSNz_PG_EDU_Q07]

1. A norm-referenced interpretation of scores/#® 1 U AT H-gei4a sarear

[Option ID = 2057]
A face-to face interview with the examinee/TI&mT + AT ATAH-TTH ATATHT

[Option ID = 2058]
A Standardized achievement test/T® HThIRa ITATST T

[Option ID = 205%)
A criterion-referenced interpretation of scores/3&f & ATAgvE-aarAq =ATEIT

[Option ID = 2060]

Correct Answer -

e A norm-referenced interpretation of scores/s &1 oF g=-g=¥T =rr=ar
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[Option ID = 2057]

8) If the lowest score in a distribution is increased by a small quantity and the highest one is decreased by the same
quantity such that their relative rankings are not changed, then, in the new distribution, which of the following measures
will not change?

A, Mean

B. Median

C. Mode

D. Variance

E. Quartile Deviation.

Choose the correct answer from the options given below

7 frdt faravor & syaaw eRT TF SYET AT AT E IE ATAT E AT ISFAAIAT AL AV wrAT H FUFT ATAT R R P s Aarder
I adf gzadt g, av °¢ Taaoor #, fewftarfaa & € w7 o1 3vr9 /gt gz

A. ATEY

B. wTfEa=T

C. TgAF

D, O

E, sgds fa=e

= R fawedi & ® 9gt SO g ¢

[Question ID = 516][Question Description = §2_qSNz_PG_EDU_Q08]
1. A, Cand E only/@ast A, CHIT E

[Option ID = 2061]
2. B,DandEonly/¥3=1 B, D#fiT E

[Optien ID = 2062]
3. A, Cand D only/#ae A, C 3D

[Option ID = 2063]
4, A, Band Eonly./#39 A, BT E

[Option ID = 2064]
Correct Answer ;-
e A, CandEonly/Faw A, CHTE
[Option ID = 2061]

9) A statistical measure based on the entire population is called parameter. Which of the following are the characteristics of
a parameter?

A. It varies from sample to sample,

B. It can be practically computed for a finite population,

C. It has a fixed value for a given population under given conditions.
D. It changes with the size of population

E. It can be estimated by using sampling variance,

Choose the correct answer from the options given below

Hquf sTAE AT U argriva aifegdiy afmro oy yraq sEgrarart g rafafaa § / si9-977 9 o araq 1 sy €2
A, TR o viage & ga3 wiogd # fraar dr e

B. % T# qfefag swaear # fag saragrfies s & asfwfaa i arasdt g

C. 799 &1 7f ot % qga uF g avd=ar 3 fag us fafaa gsa §

D. I TG AT F MFTTH HTY TIAAT §

E. SHRT MFAT T F (H49L0 FT ITTT F& AOTIT AT HFATE

= fyg o faswsai & € gt S99

[Question ID = 517][Question Description = $2_q5Nz_PG_EDU_Q09%]
1. B, Cand Eonly/¥3w B, C #fiw D

[Option ID = 2065]
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| 2. A, Cand Donly/s9= A, C &t D

[Option ID = 2066]
3. B, CandDonly/&aw B, C d D

[Option ID = 2067]
4. C,DandEonly./$aaC, DT E

[Option ID = 2068]

Correct Answer :-

e B, CandEonly/F3s B, C#X D
[Option ID = 2065]

10) Which of the following statements are true for reliabilty of a measuring instrument?
A, It is fixed for a given instrument.

B. It is correlation of scores on measuring instrument with themselves.

C. It varies from sample to sample.

D. Its value can vary from -1 to +1.

E. It is affected by size of the sample used for its determination.

Choose the correct answer from the options given below

fawfafaa o | #1791 597 vF ofoary sumcor £ fgadtgar s Froadr g ?
A. 7g fau o sowew # o fafas fraroar g

B. g TATT STHIM IT TFHIT KT IAR 1Y GgHIT 2

C. 5a® o ofyed 4 gu¥ wived F fragr v e

D. TAXTHTA -1 8 +1 TH AT T gFaTE

E. a5 399 gt % 3o w9 i 7o wfoed & st 8 swrEa rar 2

= Ry g e & | 9t SO g+ ¢

[Question ID = 518][Question Description = $2_qSNz_PG_EDU_Q10]
1. A, Cand D only/Faw A, C &t D

[Option ID = 206%]
2. B, Cand Eonly/Fa= B, C3fiT E

[Optien ID = 2070]
3. B,Dand Eonly/%3% B, D #iT E

[Option ID = 2071]
4, C,DandEonly/#4391C, D3x E

[Option ID = 2072]

Correct Answer ;-

e A, CandDonly/fFa7 A, C3T D
[Option ID = 2069]

11) Which of the following are the key processes in designing an experimental research study?
A. Manipulation of changes in the outcome variable

B. Random assignment of subjects to experimental and control groups

C. Exercising control over extraneous variables

D. Observation of changes in the treatment variable

E. Random assignment of treatments to groups.

Choose the correct answer from the options given below

THMAF AT9 76777 % Afygey § fAufafaa F | v 91 qgeaqdf wfware ?
A. aforry =T & afygda w7 IR

B. ¥TATeNF arT g aor gl #1 Awgt w1 argags guqa

C. FRAwdaT 97 9T R HTAT
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D. ITATTITH =T Iieadi oo
E. I 1 STAT FT AT F3GF qoIRT
= ey g faweqi § | gt SO g+ ¢

[Question ID = 519][Question Description = $2_qSNz_PG_EDU_Q11]
1. A, Cand E only/F37 A, C &L E

[Option ID = 2073]
2. B, Cand Eonly/Fa=1 B, C3fiT E

[Optien ID = 2074]
3. A,DandE only/Fa@ A, DT E

[Option ID = 2075]
4, B,Dand Eonly/§3w B, DT E

[Option ID = 2076]
Correct Answer ;-
e A, CandEonly/%ad A, CHITE
[Option ID = 2073]

12) Which of the following statements about adult learners help an instructor while developing his andragogy?
A. Learning process is self-directed and independent,

B. Previous life experiences have limited role in learning process.

C. Desire of self-development to cope with changes in lifestyle and work-environment.

D. What and how to learn is decided by the instructors or other authorities,

E. Motivation to learn is guided by desire to enhance self-esteem, self-confidence and recognition.

Choose the correct answer from the options given below
Ttz affrrasaf # a2 € Aaforfys & 8 17 97 597 vF aq2a® 7 3799 017 frar are £ Y5y 593 § Agg warg ?
A. iy gy e9-fA¥faT sk eada g
B. sftaw qafgwat £t srfarwrw www & «ifrs qfvrer 2
C. Sfigad+t sz wrf-afxda ¥ ofiegds § fAozd & g area-frerg i gsar
D. FIT T #3 A1gAT 8, ATITFT I7 o=y aferwriest grer gasr oy Rrarqrarg
E. #taa 2T IToT srenaeRTH, arenfigra s areaar w7 qgrd #° vsar grer fadire 2
A oo fFrweat 7 @ gt g9 g

[Question ID = 520][Question Description = $2_qSNz_PG_EDU_Q12]
1. A, Cand E only/F39 A, C &L E

[Opticn ID = 2077]
2. A, Band D only/#3< A, Bt D

[Opticn ID = 2078]
3, B,DandEonly/¥39 B, DIt E

[Option ID = 2079]
4. B, Cand D only/F== B, C #iX D

[Option 1D = 2080]

Correct Answer ;-
e A, CandEonly/%ad A, CHITE

[Option ID = 2077]

13) "What is not said may be more meaningful than what is said,” is an idea that led to the development of:

"SI AET FETAATE T F8 TU T AT A AfF arfF T aFar ", 98 s A=< ¢ Forasd wrow frsra gam

[Question ID = 521][Question Description = $2_q5Nz_PG_EDU_Q13]
1. Flander's Interaction Analysis of teaching behaviour. /=¥ Fi faraw =g FT 3a: Fam FgEr

[Option ID = 2081]
2. Guilford's Structure of Intellect model of Intelligence. /firesis Ft war £ gf% vftey £ g

[Option ID = 2082]
3. Galloway's System of Interaction Analysis of communication. /fer< & FeUgor =i 3 FSeaT g it gomer

[Option ID = 2083]
4. Piaget's theory of cognitive development. /o= &7 fomTer A= #71 g
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[Option ID = 2084]
Correct Answer :-
® Flander's Interaction Analysis of teaching behaviour. /Ff=% i farero sag =1 dT: T Hgmw

[Option ID = 2081]

14) Before gathering data for his research, an investigator asks himself the following questions. What should be the right
order of asking/answering these questions?

A, How will data be collected?

B. How will the sample of subjects be selected?
C. What information will be collected?

D. Who will be the subjects to give information?

Choose the correct answer from the options given below.

A9 ME S AT FT HA 7 & 184, er avs g3 € R sy gagard savsis19et / 99" 3 ST %97 #147 grav arfza?
A. 999 o THgT=TENT ?

B. fasgt w1 wfa=df 98 gar=moan ?

C. FYT AT TH AT BT ATYAT ?

D. g7 I a1t FAmw FYa | g ¢

#4 g g fawedt # @ agt saz g

[Question ID = 522][Question Description = 52_qSNz_PG_EDU_Q14]
S O

[Option ID = 2085]
2. A,D,B,C

[Option ID = 2086]
3, C,D,B, A

[Option ID = 2087]
4. D,C, B, A

[Option ID = 2088])

Correct Answer ;-
« B, C,A, D

[Option ID = 2085]

13) The steps involved in the pedagogical analysis of syllabus of a teaching subject are listed below:
A. Formulation of instructional objectives and stating them in behavioural terms

B. Selection of teaching method, classroom activities and needed equipment

C. Content analysis of subject matter in terms of units, sub-units, concepts and sub-concepts

D. Choice of appropriate method of evaluation of learning outcomes

Place these steps in a correct order. Choose the correct answer from the options given below:

faraw fywg & greasw & Trar arefis Fgww ® arfys saa = ghag §:

A. FARATNF IR AT FT gAfAUTW dite 37F sragrifvs 9@+ & qarar
B. firaror vz iy, Fa1 #7 7fafafray shv swagas ool £1999
C. TRIEFT, IT-TRIEHT, ATYTITE o T ST-ATYTTTEN & dad 7 fray g7g =1 gy
D. awfyrTw wfrss * gegisa 1 agrys 4 f w7 f¥swer
AT BT gPr FA X Fad AT Fro e FHwedt & § gt swe A ¢

[Question ID = 523][Question Description = 52_qSNz_PG_EDU_Q15]
1. B,A, D, C

[Option ID = 2089]
30, B, Crnl

[Option ID = 2092]
3. C,ABD
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[Option ID = 2090]
4. A, C,B,D

[Option ID = 2091]
Correct Answer ;-
« B A D C

[Option ID = 208%]

16) Match Lists | with List Il

List | List Il

A. Purposeful collection of a student’s work sample, self-

l.
assessment statements for assessing his progress in

) Triangulation
learning
B. Process of corroborating data from different IL. Rubric
individuals or sources :
C. Detailed reconstruction of a person’s life stories, :
lll. Portfolio

experiences and achievements

D. A scoring tool that lists the criteria at various levels of]

V. Yignette
quality for assessing a piece of work s

V. Biography

Choose the correct answer from the options given below.

gt -1 w7 g -l | gARm i :
AT -l AT -l

A. TF ZIT & FTH % vived 1 svewqof gy, aferoy
FFHT AT FT AFAT 79 $ U ev-geai=sa 97

| s

B. fafvw mfmat aT|AYaT F s Fr gy s sruww L. =9+

C. =rf3® & Staw F sgrfagl, stqgast e syafsagt =t I

g gafewto CIEATICER

D. uE =TT Iusew St quaar ® Afas ad aewsd 2 v, Fafky

AMFAT T (AT AT E FT FATTH FLATE RER{EREES
V. STFHT

#9 fyg oy faweat & & gt saegig:

[Question ID = 524][Question Description = $2_qSNz_PG_EDU_Q16]
1. A-IL,B-¥,C-1l,D-1

[Option 1D = 2093]
2. A-NLEB-1,C-V,D-1

[Option ID = 2094]
3. A-1L,B-ML,C-N,D-IV

[Option ID = 2095]
AR B Cs T, Dl

[Option ID = 2096]
Correct Answer ;-
e« A-,B-V,C-1I,D-I
[Option ID = 2093]

17) Match List | with List Il

List | IList 0
A, Content |l. Extent to which the test scores correlate with a
Validity riterion variable after some gap of time
B. < ; ¢

Il. Extent to which a test measures some identified
Concurrent

basic psychological trait

Validity
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C. Predictive|lll. Extent toe which a test samples the the leaning

Validity material of the curriculum
D. Construct [IV.Degree to which a test-scores correlate with a
Validity presently available criterion

. Extent to which different measures of the same trait
orrelate with one another
Choose the correct answer from the options given below.

gt -1 F71 gt -1l § gafag AfSo:

AT - AT -1l
|LFr9 9taT 9F 9w TR UE ArAEe ® 9Ty
A Prwygeg [(EAFEIRET EIAT ] WY {F AHATRTN ® 1A TREA

& T GLELES

B.gAFdT II.F5rw €wt aw vhww 537 w59+ e ghardt

daqr WS ATINS THAWT HT HIIGT &

C. A FaaTeaHILTrg AT % TF THT IISFA 21 ATHTH GTHUT w7
EEEL wii=ed dqTg

V.79 §HAT 7% U 9" B T [ATg /1T suasy
ORE LIRS MY $ ATT geasa~gq IaT 8

e V. TF E 0§ AT SIrT oF gEe F arg agEedi g
= faT o faswsat # & gt s gfaT:

[Question ID = 525][Question Description = $2_qSNz_PG_EDU_Q17]
1o B NGB A G Do

[Option ID = 2097]
2. A-1LB-I,C-1,D-V

[Option ID = 2098]
3. A-V,B-1,C-1l,D-1

[Option ID = 2099]
4, A-N,B-IV,C-1,D-1l

[Option ID = 2100]
Carrect Answer ;-
s A-IV,B-Il,LC-1,D-1I

[Option ID = 2097]

18) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In the case of small samples, use of non-parametric statistical tests is recommended for analysis of research
data.

Reason R : The sampling errors are large in the case of small samples due to which parametric tests do not give
dependable results.

In light of the above statements, choose the correct answer from the options given below.
= v wga R ag E ;. uw wr Af¥rwaa (A) AIgEX T T (R) FITTATR

g (A) : oY wiaget & A &, avy 0 ® BFaw F Ry A-wrafere of R adgort 513797 F3 £ geghiy
ATAT &

T3 (R) : aq afaget # qarasa & wfassd gracdt gfeat sreafys §, Brad soo y=fors ohaw s dAg ofomma adisa €
SULF F991 # awrarE # wifrg fAwedi & g+t

[Question ID = 526][Question Description = $2_qSNz_PG_EDU_Q18]
1. Both A and R are ture and R is the correct explanation of A./(A) < (R) FHT g1 § 31 (R}, (A) =T 551 =TT §

[Option ID = 2101]
2. Both A and R are true, but R is NOT the correct explanation of A./(A) 3% (R) T @&t £ 7e1 (R), (A) Ft wdt =em 7 &

[Option ID = 2102]
3. Ais true but R is false./(A) @&l & 9% (R) A1 &l &

[Optien ID = 2103]
4. Afs false but R is true./(A) @& 721 € woq (R) 7er &

[Option ID = 2104]

Correct Answer ;-
# Both A and R are ture and R is the correct explanation of A./{A) < (R) AT a5t § 31 (R), (A) T 551 =TT &
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[Opticn 1D = 2101]

19) An investigator commits Type Il error in his research when he:

TF A739E oqqq oy F zrgw N gfr wxard ww I

[Question ID = 527][Question Description = 52_qSNz_PG_EDU_Q19]
1. Rejects null hypothesis when it is true. /T 219 0T 7 F7 o= qf === :7 de= 1L F4al &

[Option ID = 2105]
2. Rejects null hypothesis when it it is false. /@87 2 9T off 77 g7 THemT ® sedtw FT AT €

[Option ID = 2106]
3. Accepts null hypothesis when it is false. /stae €19 I 0t STF 477 TTCF=TAT ® T L B 9d7

[Option ID = 2107]
4. Accepts null hypothesis when it is true. /ae 2 92 ot 577 977 TRFeTT F ST & A3aT 2

[Option ID = 2108)

Correct Answer :-
s Rejects null hypothesis when it is true. /5w 219 72 oY 719 /=7 IFF=TAT FT A THT FL9T &

[Option ID = 2105]

20) In the process of collecting data for a quantitative research the following steps are followed in a certain order. Place them in correct order.
A. ldentification of research instruments

B. Administering the research Instrument to sampling units

C. Seeking permissicn of appropriate authority

D. Selecting a sample by appropriate method

E. Appreaching the sampling frame

Choose the correct answer from the options given below:

ATATIAF 19 & A0 37 usasd 31 uffar & vs fFafag sa & frafafya oot sroas fFaramar? s aftwud @F
A, o ITFTOT FT TZITT

B. wfadf swreat # faw A 919 ITFTT | ITAHAT

C. ITLTF TITHFTE F1 Agafy s

D. 3o fafa grer o wiyad srI37 ®FOA7T

E. wfa=gm ai= =1 srsrfaate

A g e fasedi # & gt 99T oA ¢

[Question ID = 528][Question Description = 52_qSNz_PG_EDU_Q20]
1A DoGLEB

[Option ID = 2109]
2. A,E,D,CB

[Option ID = 2110]
3. CG,A B ED

[Option ID = 2111]
4. D, C, A FE, B

[Option ID = 2112]
Correct Answer ;-
a ADCEB

[Option ID = 2109]

21) Which of the following is a mandatory requirement to receive grants from University Grants Commission?

Frafemes aaam g & agaE vE 0 § e Fwisnfya 7 8 7 9 v et sravasarg ?

[Question ID = 529][Question Description = §2_qSNz_PG_EDU_Q21]
1. Shall be a Grant-in-aid institution/T= ar= UTH HeaT R

[Option ID = 2113]
2. Established by a central or state Government/#7 4T T9 HIHT ZI4T #4TOA

[Option ID = 2114]
3. Recognized by an international quality control body like SO/ T 3t ST S=Tg i o= o= T gy areaar 9 g

[Option ID = 2115]
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| 4. Accredited by National Assessment and Accreditation Council /TT8Ta I=aT= &1 T=gTHET T HE 17 ToamHae
[Option ID = 2116]
Correct Answer :-
¢ Shall be a Grant-in-aid institution/T% &=TT 1 Fear 2R

[Option ID = 2113]

22) What is the score needed by an institution of higher education to get an A+ Grade from NAAC?
NAAC & A + TT ITR TR & forg 37 faryr gear grr snaeaF eR1T 9978 ?

[Question ID = 530][Question Description = 52_qSNz_PG_EDU_Q22]
1. 2.56-3.25

[Option ID = 2117]
2. 3.26-3.50

[Option ID = 2118)
3. 4.00-4.50

[Option ID = 2119]
4. 4.51-5.00

[Option 1D = 2120]
Correct Answer ;-
a 7.56-3.25

[Option ID = 2117]

23) Which of the theories of leadership explains the crucial relationship between productivity and concerns for employees?

AT F B & RrEraT scargwar ;T FHartEr # fow fHarst # e ggagd a9 [ §7

[Question ID = 531][Question Description = §2_qSNz_PG_EDU_Q23]
1. Managerial Grid/va=a firg

[Option ID = 2121]
2. Field theory/sa7e+ fHgia

[Option ID = 2122]
3. Transformaticnal theory/T=raoms &g

[Option ID = 2123]
4, Transactional theory/d=t=TgT FafT

[Option ID = 2124]
Correct Answer -
& Managerial Grid/ 757 firg
[Option ID = 2121]

24) Which of the following points states the concept of the Japanese Model of “Just in Time Model”?
frefafeaa & 9 frad ooz g 2rgw Atz $ ST+t gfosT #31 saaroor giafag gidt  ?

[Question ID = 532][Question Description = $2_qSNz_PG_EDU_Q24]
1. Minimize time from within production to supply to customers/ITZ#] Ff TEATET & arqfd aF H T A0 T Tt FH FL7

[Option ID = 2125]
2. Minimize time to produce good in limited time/HTHa a9F ¥ F¢g IeqTa 2 #9491 AT Hl FH7 HLAT

[Option ID = 2126]
3. Procure and supply of materials to citizens for consumption/ST¥r & fre arrfvst =t avaft £ smafd s wroo

[Opticn ID = 2127]
4. Prompt service delivered by employees in an organization/faT d3ad § ®A=TIAT FRT &1 75 49 €91

[Option ID = 2128]

Correct Answer :-
e Minimize time from within production to supply to customers/ITEH] &1 =T H sYG aF § 90 Aol AT H7 FH FLAT

[Option ID = 2125]

25) What is the main disadvantage of Bureaucratic management?
THLATE Ta o7 w7 7qg grfv 97§ ?

[Question ID = 533][Question Description = $2_qSNz_PG_EDU_Q25]
1. Emplovees get irritated/FH=t fg oma &

[Option ID = 2129]
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| 2. Productivity gets affected/Itara®ar wHTET g1 &

[Optien ID = 2130]
3. Itis time taking/=7g FaTHET E

[Option ID = 2131]
4. Leader has a lot of risk/AdT =i 7gd STT&H 3T 8

[Option ID = 2132]

Correct Answer :-

e Employees get irritated /w4t Frg o €
[Option ID = 2129]

26) Among the types of disabilities in our population, which can be found meore in terms of its percentage?

ZATS araTdt # fasaiat # va1e, 97 9% wfoaa  dedf & safyws aqrogarasad & 7

[Question ID = 534][Question Description = 52_qSNz_PG_EDU_Q26]
1. Mental disability/a=TaT Fremrar

[Option ID = 2133]
2. Locomotor disability/=e=a F:errar

[Option ID = 2134)
3. Hearing disability/==m-re

[Option ID = 2135]
4. Visual disability/gfearaT

[Option ID = 2136]
Correct Answer ;-
» Mental disability/®Tes Femar

[Option ID = 2133]

27) How many types of disabilities are listed in the PWD Act 20167

9t o &1 afafraw 2016 & fradt yeR 1 fmawargas g ?

[Question ID = 535][Question Description = §2_qSNz_PG_EDU_Q27]
1. Five/q=

[Option ID = 2137]
2. Fourteen/=T=g

[Option ID = 2138]

3. Sixteen/@ieg

[Option ID = 2139])
4, Twenty-one/ZHH

[Option ID = 2140]
Correct Answer :-
& Five/T=

[Option ID = 2137]

28) How are the normal children affected in inclusive education?

AT ot forar & arareg g FA warfaa N & 7

[Question ID = 536][Question Description = $2_qSNz_PG_EDU_Q28]
1. Proper social and emotional development take place/37T 3R aarire div araarews e ST &

[Option ID = 2141]
2. Their cognitive development get hampered/3a% HaATToRS To=g & =T8T &1 &

[Option ID = 2142]
3. Developed negative attiude towards the disabled/farFerisit % i F=riEa Trerens ==g1e

[Option ID = 2143]
4. Their interest in study affected negatively/sw I sa # T AFRIHH T & TATET g5

[Option ID = 2144]

Correct Answer :-

e Proper social and emotional development take place/Ta%T I ATATRHF T ATEATHF =&FH gar &
[Option ID = 2141]

29) Which of the following statements represents the meaning of inclusive education?
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frwfafaa & & 17 1 97 AT o FBrar # o 7 whatafasg wzarg ?

[Question ID = 537][Question Description = $2_qSNz_PG_EDU_Q29]

1.

3

A system of education where the disabled children are given special care/fare 1 U yureft wrgi freres agt &7 & F@are & @mdi g

[Option ID = 2145]
A system where the special children are taught by trained professionals/T= sorrett gt frdre agt +r sharfarr %=t gror fammar smar €

[Option ID = 2146]
A system where normal children and children with special needs are taught together/T= THT T FET HH ag1 < H0T A=Al a1 9g1 S TH 0T
TEMT ATaT

[Option ID = 2147]
A system where normal children are asked to teach the special children/o® worreft srgt avarey agf &1 2dm agt v oz & o gy smar &

[Option ID = 2148]

Correct Answer :-
® A system of education where the disabled children are given special care/farT 1 v yumeit wigi s agl &7 &g 3@y € 9l

[Option ID = 2145]

30) As a Teacher, which of the following act shall be your prime duty to make education inclusive?

uF fres = w77, fAafafyg & § 17 v w0 frar 1 aar3 ot 3973 g o= wqga w7 v ?

[Question ID = 538][Question Description = §2_qSNz_PG_EDU_Q30]

1.

Plan lesson effectively/ TSt %97 & 915 &t =T A97HT

[Option ID = 214%9])
Have positive attitude towards inclusion/FaTHeT & T AFTITHF FIo10T TEAT

[Option ID = 2150]

. ldentify children with special needs and adapt pedagogy accordingly/ TS sraremaaT are agl it Tg=am==T 307 561 % a7 M gy & argagied 47

[Option ID = 2151]
Develop competency to teach in inclusive classroom/aHTelt F4T ¥ 9217 1 eHar fasfae Hear

[Option ID = 2152]

Correct Answer :-
e Plan lesson effectively/Tart &7 & s £t Fr=aT T97777

[Option ID = 2149]

31) Match List | with List Il by considering the types of disability and its percentage.

List | IList Il

Types of disability Percentage of disability in India
A. Mental disability 1. 1.0

B. Locomotor disability 1. 0.1

C. Visual disability n, 0.2

D. Hearing disability V. 0.6

Choose the correct answer from the options given below;

AT -1 %7 gAT -1 | gRfAT Fifde

Rt -l Y -l

P TaT 3 W91 T & i
A. ATAfrE frarwar I. 1.0

B. IAATHF fo:qhaT . 0.1

C. gf¥aTyr . 0.2

D. gy Iv. 0.6

= g g fFweTi & & aft sorgig:
[Question ID = 5392][Question Description = $2_qSNz_PG_EDU_Q31]

1.

A-IV,B-1,C-1II,D-1I
[Option ID = 2153]

2, A-NLB-IV,C-1,D-1

[Option ID = 2154]

3. A-ILB-I¥, C-[,D-1I

[Option ID = 2155]

4. A-NL,B-1,C-1V,D-1l

[Option ID = 2156]

Correct Answer ;-
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o A-IV,B-I,C-N,D-I

[Option ID = 2153]

32) Match List | with List |l by considering the concepts with its founders.

List | IList Il
Conceptsftheories of management Founder Hame

A, Management by objectives (MBO) [l. Mac Gregor

B. POSDCORB |II. Edward Deming
C. Theory X & Y |III. Peter Drucker
D. PDCA |IV. Luther Gulick

Choose the correct answer from the options given below:

gt -1 Fr gt -1 § gafag Afvo:

AT -l AT -l
frgia/gavaa $1 aq9TTTe HTTIH FTATH
A. IRIAUCH TS 47 [. 7% M

B. 9t @ ww &Y a7 &r s Y I, geare ST
C. X T Y F7T Rrgia Il f1=2 g%%T
D. fretat Iv. gaz g

= faT o faswsat # & gt saegfag:

[Question ID = 540][Question Description = $2_qSNz_PG_EDU_Q32]
1. A-LB-ULC-1,D-I¥

[Option ID = 2157]
2. A-ILB-N,C-1,D-I¥

[Option ID = 2158]
3. A-NLB-1Y,C-1,D-Il

[Option ID = 2159]
4 A-W,B-I,C-1,D-11

[Option ID = 2160]

Carrect Answer ;-
o A-LLB-U,C-1I,D-1I¥

[Option ID = 2157]

33) Which criteria can be followed to judge the effectiveness of inclusive education?
A. ldentification and enrolment of children with special needs in school

B. Participation of CWSN children in teaching-learning process

C. Parents get relieved from their responsibility

D. Development of children as per their potentialities

E. Political interference in school activities

Choose the correct answer from the options given below:

qATE &t forear & wora w7 Aofy w7 9 Torg fra amdst srarwa earsrawarg ?
A, T | AT araersarsii aret agT 77 959 AT ATHIHA

B, forero-arfirw o & CWSN SgT 57T 917 |47

C.HTar far = PTG da g Ersd §

D. gt &1 77477 § A S5 s

E. Tge &t wfafai=y & uaifos geagy

= R o et & ® 98t SO g ¢

[Question ID = 541][Question Description = $2_qS5Nz_PG_EDU_Q33]
1. A, Band D only/§a= A, BT D

[Optien ID = 2161]
2. A, Cand D only/®ae A, C&E D

[Option ID = 2162]
3. B, Cand Eonly/§a=1 B, C3fiT E

[Option ID = 2163]
4, D, Cand Eonly/$aw D, C ST E
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[Option ID = 2164]

Carrect Answer ;-
® A, BandDonly/@aw A, BaiE D

[Option ID = 2161]

34) What are the basic principles of Total Quality Management (TQM) as a process?
A. Customer satisfaction

B. Total employee involvement

C. Salary to employee

D. Effective Communication

E. Fact-based decision

Choose the correct answer from the options given below

arqol QUERT TE AT (T QM) FTIHT 5 €T & aranqa Rgia a7 & 2
A qTEF I

B. HH=T 1 ggarfiar

C. FHATOA FTIAT

D, TATET FFH

E. aeagTivg oy

= R o fawedi & ® 98t SO g ¢

[Question ID = 542][Question Description = $2_qSNz_PG_EDU_Q34]
1. A, B, CandDonly/A, B, C T D

[Option ID = 2165]
2. A, C,DandE only/A, C, D #iTE

[Option ID = 2166]
3. B,C,DandE only/B, C, D#<E

[Optien ID = 2167]
4, A, B, DandE only/A, B, D #iTE

[Option ID = 2168]
Correct Answer ;-
e A, B, CandDonly/A, B, C3iTD
[Option ID = 2165]

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: PWD Act, 2016 is based on the principles of respect for inherent dignity, individual autonomy including the
freedom to make one’s own choices, and independence of persons.

Reason R:  In India, a child has the right to get admission to any school as per his/her choice.

In light of the above statements, choose the correct answer from the options given below

= YT fegag g : oF 57T afrwgT (A) ATgEFT A% (R) FETTIATR

afirwaT (A) ; Ir.eseg Y. afafaay, 2016 dafie wfaer 3q snaT & fagiat, Faf3es saraaar Brad 5T 1 =4 097
FATA Ft TG ATT, AT FATFTT FT g 797 gA7id« & I awyriea g

T% (R) : AT ®, TFTY BT ITHT THT $ JqATE Tt T o570 § w3 a7 w71 AfqFCE
IAR T FAAT F AATF F fAwifea fawen & | agi sac a4 ¢

[Question ID = 543][Question Description = $2_qSNz_PG_EDU_Q35]
1. Both A and R are true and R is the correct explanation of A/(A) =T (R) 19T W& € =T (R), (A) T ot =rear §

[Option ID = 216%9])
2. Both A and R are true but R is NOT the correct explanation of A/ (A} 3% (R) AT 921 & T57d (R), (A) = Fgf =ATEIT 75[ 5

[Option ID = 2170]
3. Afs true but R is false/ (A) &Y & 72 (R) Tt 2f &

[Option ID = 2171]
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| 4. Ais false but R is true/(A) 71 72T & 75 (R) @81 2
[Option ID = 2172]
correct hnswer e
e Both A and R are true and R is the correct explanation of A/(A) =T (R) T W& € =T (R), (A) & ot =rear £
[Option ID = 2169]

36) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The main concern of a Manager is to make profit for his/her organization

Reason R: Leader has to work as per peoples' requirements

In light of the above statements, choose the correct answer from the options given below

M A wwa frracE . oF wr GfFgT (A) T gaL F I (R) FITTATE

AfUFgT (A) : TFTF T L&T 577 07 FASTITATACATE

I% (R) : RATET AT AT MITITFIT B ATATT FTF FIAT AT S

ITLF FIAT & AT ¥ Awifeg fywedt & § g sac g

[Question ID = 544][Question Description = 52_qSNz_PG_EDU_Q36]
1. Both A and R are true and R is the correct explanation of A/{A) &% (R) 191 W& € =i (R), (A) & 7t =rear &

[Option ID = 2173]
2. Both A and R are true but R is NOT the correct explanation of A/{A) =< (R) =T @& £ 957 (R), (A) F @& =rveaT 981 &

[Option ID = 2174]
3. Ads true but R is false/ (A) I & TR (R) ¥t 21 &

[Option ID = 2175]
4. Ais false but R is true/(A) =81 wdt & weeg (R) w8l &

[Option ID = 2176]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) #i% (R) 3141 a1 & &L (R), (A) FT 91 =qT=AT &

[Option ID = 2173]

37) What steps are followed logically to recruit people?
A, Advertisement

B. Job-analysis

C. Interview

D. Orientation/Induction

E. Agreement for work/job

Choose the correct answer from the options given below
AT T AdT ® g FRa T w1 wgaow fearrar g ?
A, fq=Tas

B. wrF-fagww

. ATHATTHRTT

D. srfrgeftsor / smaw

E. 7% / ®194 9 T

A R fraeai @ @ gt g9 A

[Question ID = 545][Question Description = 52_qSNz_PG_EDU_Q37]
1. A,B,ED,C

[Option ID = 2177]
2. E,A,D,B,C

[Option ID = 2178])
3. BACED

[Option ID = 2179]
4, D,E, A B, C
[Option ID = 2180]
Carrect Answer ;-
s ARBEDC

[Option 1D = 2177]
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38) Which type of higher education institution in India has the highest percentage of students’ enrolment?

A1 | U39 THE #71 9y fargraear § grat @ araiwq w7 afoaa ag9@ afgs 2

[Question ID = b46][Question Description = 52_qSNz_PG_EDU_Q38]
1. Government institution/FTETEr FeaT

[Option ID = 2181]
2. Private institution/ = T=ar

[Option ID = 2182]

3. Public-private institution/ama===-fA=it dear

[Option ID = 2183]
4, Central government institution/

[Option ID = 2184]

Correct Answer ;-

F7 TOEHTT T He

e Government institution/STErET ST

[Option ID = 2181]
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39) Match List | with List Il

List |

List |l

Concept in Management

Meaning of Concept

A. Scalar Principle

l. Administrator works only as per given rulebook

B. Human Relation Approach

Il. Freezing, Moving, Unfreezing

C. Bureaucracy

|III. A manager can control five/six people effectively]

D. Change Model

|IV. Facility and leisure enhance work

Choose the correct answer from the options given below:

T -1 7 gHAT -1l | gARE FifHg

AT -1 il

g g § AFGTIUT [RITGTI0T %7 oef

. wfiet fraie |{€ waraE H99 AR Mrarasft $ aqgare s s

SATITH

B AR GENS ‘II. Rafwoo |, wfaw , sitaG=woor

C. afgsrird= ILIFI oA

THgHATE

g% 919 / F: A1 1T TArdT 7§ fAafeg

D. wfad s wftrsy |v. gfrard sz goag =0 %1 afwrgfg w29 &

= feg g fawedt & & gt swi g
[Question ID = 547][Question Description = §2_qSNz_PG_EDU_Q39]

1. A-IV,B-1,C-1I,D-II

[Option ID = 2185]
2. A-ILB-ULC-1L,D-IV

[Option ID = 2186]
3. A-NL,B-IV,C-1,D-II

[Option ID = 2187]
4, A-1L,B-ULC-N,D-1I¥

[Option ID = 2188]
Correct Answer -
e« A-IV, B-1L,C-1LDO-1
[Option ID = 2185]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Proximity between people enhances communication

Reason R: Face to face communication does not ensure effective communication

In light of the above statements, choose the correct answer from the options given below

= v wga g ag d . uw wr Af¥rwaa (A) ATgEX T T (R) FITTATE
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qfrpaa (A) : 00 F 1= fAFear @9 w1 T@Tdt d
= (R) : geas gEaw varEt g giatig adi war
IAR T FAAT $ AATF F fawifea fawen & | agi sqc a4 ¢

[Question ID = 548][Question Description = $2_qSNz_PG_EDU_Q40]
1. Both A and R are true and R is the correct explanation of A/{A) &% (R) 191 WY € =i (R), (A) & ot =rear §

[Option ID = 218%9)
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3% (R) FFT 921 & T57q (R), (A) T dgf ATEIT 78] 5

[Option ID = 2190]
3. Afs true but R is false/ (A) TEY & 72 (R) war 72f &

[Option ID = 2191]
4. Adis false but R is true/ (A} 957 747 & 72+ (R) &1 §

[Option ID = 2192]

Correct Answer ;-

e Both A and R are true and R is the correct explanation of A/ (A} =T (R) F9T W& € = (R), (A) & ot =rear £
[Option ID = 2189]

41) Attention, perception, language, thought, memeory and learning are part of
ATLATH, ATHTTO, ATYT, Fr=re, sqfa s srfeorq o &

[Question ID = 549][Question Description = 52_qSNz_PG_EDU_Q41]
1. Cognitive processes/HAFTHF THH

[Opticn ID = 2193]
2. Understanding processes/@a i T68

[Option 1D = 2194]
3, Developmental processes/TE=TaTma® vy

[Opticn ID = 2195]
4. Yisualization processes/®Ta=4TT TFT

[Option ID = 2196]
Correct Answer ;-
& Cognitive processes/TaTHTcHH THE

[Option ID = 2193]

42) Match List | with List Il

List | List Il

Stage Age Group

A. Sensorimotor stage I. Elementary and early adolescence
B. Pre-operational stage ‘II. Toddlerhood and early childhood
C. Concrete operational stage |lll. Infancy

D. Formal operational stage lIV. Adolescence and adulthood

Choose the correct answer from the options given below:

gt -1 F7 gt -1 § gafay Nifvo:

AT -l AT -l
AT g T
A. H3E AT FTEAT | &< fors T od fheanTraeT

B. I & f%areus® srazygr . Atfrgra a7 ST s firs areaTaEdT
C. ¥ & Frarens sraear . & eraraear

D. T & rarens® st V. FrafiraeaT s aaswraeay
= faT o fassat & & gt s gfaT:

[Question ID = 550][Question Description = $2_qSNz_PG_EDU_Q42]
. A-L,B-1,C-1I,D-1I¥

[Option ID = 2197]
2. A-1L,B-1,C-1¥,D-1

[Option ID = 2198]
3. A-NL,B-1,C-1,D- IV

[Option ID = 2199]
4. A-IV,B-1,C-1,D-1

[Option ID = 2200]
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Correct Answer ;-
o« A-,B-ILC-,D-1V

[Option ID = 2197]

43) which among the following statements are correct?

A. Mental health is a part of mental hygiene

B. Mental hygiene prevents an individual from psychosis

C. Mental hygiene promotes neurosis in an individual

D. Mental hygiene helps in treating mental disorders

Choose the correct answer from the options given below:
fagfafga o @ $17 F Faaadr € ?

A, wrafirs cqreey AT egsgar £ o7 fRear g

B. arwiyrs eg=gqar uF =ufw s a0 {gfH 8 gt 2

C. urafys sasgar 3 § dfrerare (=g0faa) w1 ggrardr
D. wrafas sasgar Arafys fawrd & syre § ggraar st 2
A T fraweat 9§ @ gt g9

[Question ID = 551][Question Description = $2_qSNz_PG_EDU_Q43]
1. A, B and D only/F3% A, B #iT D

[Option ID = 2201]
2. A, Band Conly/$3< A, BsiiT C

[Optien ID = 2202]
3. B, CandDonly/Faw B, C d D

[Option ID = 2203]
4. C, Dand A only/3=e C, D =T A

[Option ID = 2204]

Correct Answer ;-

e A, BandDonly/%aw A, Baliz D
[Option ID = 2201]

44) Among the following which intelligences are associated with Howard Gardner's theory of multiple intelligences?
A, Linguistic intelligence

B. Musical intelligence

C. Spatial intelligence

D. Social intelligence

Choose the correct answer from the options given below:

frafafya @ sia-at qfy grad nidfae R aggfas = fFagigd gHr &

A. wrarE gfg

B. #iftarens gfx

C. =arfas gfg

D. graThrs Ify

A oo frwedt F @ gt g9 g

[Question ID = 552][Question Description = 52_qSNz_PG_EDU_Q44]
1. A, B and D only/F3% A, B @i D

[Option ID = 2205]
2. A, Band Conly/@s+ A, B 3T C

[Option ID = 2206]
3, B, Cand Donly/F59 B, C o= D

[Optien ID = 2207]
4. A, Cand D only/F=e A, C <D

[Option ID = 2208)

Correct Answer ;-
e A, BandDonly/%a7 A, Baliz D



www.prepp.in .repp

Your Personal Exams Guide

[Option ID = 2205]

45) The term emotional intelligence was created by

araarens 1y o w1 fAanfw e gra fFaragrare?

[Question ID = 553][Question Description = 52_qSNz_PG_EDU_Q45]
1. Howard Gardener/graz M=%

[Option ID = 2209]
2. Daniel Goleman/ET==e Tredq

[Option ID = 2210]
3. Robert Strenberg/Tias ¥

[Option ID = 2211]
4. Peter Salavoy and John Mayer/ =< greraia =i =i #9<

[Option 1D = 2212]

Correct Answer :-
e Howard Gardener/grag M=%

[Option ID = 2209]

46) Among the following which activities are a part of the metacognitive strategy?
A. Writing a reflective journal

B. Self-praising

C. Self-questioning

D. Awareness of self-learning style

Choose the correct answer from the options given below:

frwfafaa « & sra-37T nfafafral afagamreas sdfdifrsros feear€ ?

A Tawefi svie Saw

B. STeH-gTHT

C. ATTH-THT

D. sreR-ATHww AT F L H ATTEHAT
= fyw o faswsai & & gt S99

[Question ID = 554][Question Description = 52_qSNz_PG_EDU_Q46]
1. A, Band D only/%39 A, B #i< D

[Optien ID = 2213]
2. B, Cand D only/@==1 B, C &< D

[Option ID = 2214]
3, A, Cand D only/F37 A, C ST D

[Optien ID = 2215]
4. A, Band C only/#3% A, B 9T C

[Option ID = 2216]
Correct Answer ;-
# A, BandDonly/#3 A, Bt D

[Option ID = 2213]

47) Experiential learning theories that situate experience at the core of the learning process are based on

ATUTH IFH F A | srgad w1 Rgq /=7 av9 wrrfas aftraw fagia ararfra & .

[Question ID = 555][Question Description = §2_qSNz_PG_EDU_Q47]
1. Constructivist theories of learning/#fEmw %1 T=vTers Fgia

[Option ID = 2217]
2. Social theories of learning/ sty F7 AraTers g

[Option ID = 2218]
3. Cosnitive theories of learning /T8 %1 HaraTer forga

[Option ID = 2219)
4, Both social and constructivist theories of learning/s1firm % wraTiors figia i 99T+ gt ==t

[Option ID = 2220]
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Correct Answer ;-

e Constructivist theories of learning /=& F1 ros Mg

[Option ID = 2217]

48) The process of helping individuals discover and develop their educational, vocational, and psychelogical potentialities
and thereby to achieve an optimal level of personal happiness and social usefulness is named as

=THaT F1 ITHT d&ghrs, sHraartas st gardari== guaarst =7 @ i ria 0 F vgg o 1 gwiegr o< Sag
Ffwag gawar sz ararfys Irnfar srus ggan sacara fRarSrasarg ST 6918 :

[Question ID = 556][Question Description = $2_qSNz_PG_EDU_Q48]
1. Guidance /®Tigei

[Option ID = 2221]
2. Counselling/=7rost

[Option ID = 2222]
3. Counselling and guidance /Terwel 2T ARG T

[Option ID = 2223]
4. Career counselling/ @itz wormsf

[Option 1D = 2224]
Carrect Answer ;-
® Guidance/®T=s

[Option ID = 2221]

49) Any counselling theory or practice that incorporates and combines doctrines, findings, and techniques selected from
diverse theoretical systems is termed as

fatyrs dgifas gorfat & g7 7o frgiat, fassa st asdist 71 aftatag s s g0ta 5@ ara BT o ooasf fagia
AT AEATH FT HET ATAT B!

[Question ID = 557][Question Description = $2_qSNz_PG_EDU_Q49]
1. Non-directive counselling/dt=-Fesmems wermst

[Option ID = 2225]
2. Directive counselling/f=ermaas qemel

[Option ID = 2226]
3. Eclectic counselling/Ser-TeF ITa £

[Option ID = 2227]
4. Vocational counselling/=T=raTii= TarH2T

[Option ID = 2228]

Correct Answer ;-

e Non-directive counselling/fT-T==smems Tarael
[Option ID = 2225]

50) Match List | with List Il

List | List Il

Theory Characteristic

A. Psychodynamic|. is used to identify irrational beliefs and
theory of negative thought patterns that may lead to
counselling emotional or behavioral issues.

B. Behaviouristic . . .
Il. explains personality in terms of unconscious

theory of

; psychological processes
counselling
C. Rational lll. focuses on improving present relationships
emotive theory ofland circumstances, while avoiding discussion of
counselling past events.

D. Reality theory V. is used for those with behavioural problems
of counselling or mental health conditions

Choose the correct answer from the options given below:

gt -1 F1 gt -1 § Aty Afvo:
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AT - AT -l
fergra FrasaTd
A, TOTHE A

e Il. SHFT STAIT AFTITRF ATFTRTA ST FHRTLTeHF fA=1T
TR TRIET 1 TgI77 37 @ forw fegr srar g o0
ATTATEHE T ATAGILH AT HT T-A T AFATE

EFAKI

B. TS T

LFT u_.:ﬁcﬁﬁ' FT ASTT AARAATIAF TFA F T ® ATSAT
BEFBEIEA] T?

Rrate

& ;?{%Tff” 11, TR A T TR Rt Y O wATd &
Rt 7ol & AT TU LT FH 9 Ffeaq HLar g

D‘T E;ff; IV. SIETTHT AREATS IT ATATHT TATELT AT H |1
- AT ® g IaayT fHarsrar

= g g faweTi & & aff sz gig

[Question ID = 558][Question Description = $2_qSNz_PG_EDU_Q50]
1. A-LB-ILC-M,D-I¥

[Option ID = 2229]
2. A-1,B-1,C-1¥,D-1

[Option ID = 2230]
3. A-1LB-1¥,C-1,D- I

[Option ID = 2231]
4, A-UL,B-IY,C-1,D-1

[Option ID = 2232]
Correct Answer ;-
o« A-LLB-Il,C-1U,D-1I¥
[Option ID = 2229]

51) Given below are two statements
Statement I:  The curriculum principles should reflect the school’s values, context, pedagogy and needs.

Statement ll; Schools need to identify the resources required to bring their curriculum to life and ensure its coherence, A
good curriculum needs good quality resources.

In light of the above statements, choose the most appropriate answer from the options given below

= v wga R ag d ;. uw wr Afrwaa (A) AIgEX T T (R) FITTATR
gfrmaa (A) : Trem=al fagiar = e $ geat, atoem, g Bty st srasgwarst =t whatdtag s arfre

% (R) : FqAT TTS=AT F1 A rET FATH AT gAEy gEaty ghhatdrg 50 @ oo fenagt w1 o9 fEa eyt 5 gg=rT st
I1fgT.
STLF F991 # ararE # witrg wedi & & g+t

[Question ID = 559][Question Description = $2_qSNz_PG_EDU_Q51]
1. Both Statement | and Statement Il are correct/(A) &% (R) =19f 2l § #17 (R), (A) T TE] =T=A1 &

[Option ID = 2233]
2. Both Statement | and Statement || are incorrect/(A) % (R) ST @&t € 7eg (R), (A) F @8t = 7 &

[Option ID = 2234]
3. Statement | is correct but Statement Il is incorrect/ (A) Tgl & T (R) #=El 721

[Option ID = 2235]
4. Statement | is incorrect but Statement Il is correct/(A) T8f &l & 7o (R) @et &

Carrect Answer ;-
» Both Statement | and Statement Il are correct/{A) i< (R) FHT g1 T (R), (A) it 9gf =807 3

[Option ID = 2233]

52) The National Curriculum Framework 2005 begins with a quotation from an essay titled ‘Civilisation and Progress’, This
essay was written by

TFtT oremEat Baad 2005 HfrarRias e N g sids Mg d frargssgums aragE giar . sofadsgad dg5 8-
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[Question ID = 560][Question Description = $2_qSNz_PG_EDU_Q52]
1. Mahatma Gandhi/mgmeaT Tty

[Option ID = 2237]
2. Gijubhai Badheka/firspars Fémr

[Option ID = 2238])
3. Rabindranath Tagore/Tf&waTy &Mt

[Option ID = 2239]
4. Gopal Krishna Gokhale/*Trerer s Trae

[Option ID = 2240]
Correct Answer ;-
* Mahatma Gandhi/HZmET 7T

[Option ID = 2237]

53) The following are some steps for curriculum development. Arrange them in a sequential order
A. Produce curriculum product

B. Implement curriculum

C. Test and revise Curriculum

D. Design evaluation strategies

E. Form curriculum development team

Choose the correct answer from the options given below

qreraat fawr & frafafa s o1 saae gaaiiag o<

A, qrea=aT qf oA T8 FIAT

B. qr&a=qt a1 FIAT

C. grEr=gt T T garyT

D. gFiHT FTEATIET 1 stfdrwss 1T HAT
E. qrsar=ai fasra g« wisa w7ar

= fyg o faswsai & € gt S99

[Question ID = 561][Question Description = $2_qSNz_PG_EDU_Q53]
1, A,B,C,D,E

[Option ID = 2241]
2. B,C,D, E, A

[Option ID = 2242]
3. E,A,C,B, D

[Option ID = 2243]
4. C,D,E, A B

[Option ID = 2244]
Carrect Answer ;-
AR C,DE

[Option ID = 2241]

54) Given below are two statements

Statement |: Stake’s model of curriculum evaluation is based explicitly on the assumption that the concerns of the
stakeholders—those for whom the evaluation is done—should be paramount in determining the evaluation issues

Statement Il: The Eisner model is built on two closely related constructs: connoisseurship and criticism,

In light of the above statements, choose the most appropriate answer from the options given below

M A Faq e e -

FAT - | : SATY] GEATRT FT L2 FF AIST T8 T § 57 F47T07 72 rAriq g O goaisy 954t g2 # fAafoor § Fagresi-
e o geaisT far arar 8- F1F FHard gaiafc gt iRy uF oea a9 & foe srs=t ey 919 S qr9=1 #10
MALTFATBIAT
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F9 - || : TE Aiew €1 faFz Fadt AT gorgar s arargar g g 2.
ITLF FIAT F aAF ¥ Awnfriyg fAwedt & 4 afrsacad

[Question ID = 562][Question Description = $2_qSNz_PG_EDU_Q54]
1. Both Statement | and Statement [l are correct/9T | &% || ST && €

[Option ID = 2245]

2. Both Statement | and Statement |l are incorrect/=9w | s || F4T T=1d &

[Option ID = 2246]

3. Statement | is correct but Statement Il is incorrect/®aw | &2 &, Frmg %27 || oft 7ol &

[Option ID = 2247]

4. Statement | is incorrect but Statement |l is correct/=w | @&l A1 g, FHvg 797 || Tt &

[Option 1D = 2248)

Correct Answer ;-

e Both Statement | and Statement |l are correct/F4 | 3% || SHT #5r &

[Option ID = 2245]
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53) Match List | with List Il

List |

List I

Curriculum Evaluation Model

Given By

A. Effectiveness Model

|. Kirkpatrick

B. Goal-Free Model

1. Scriven

C. Four-Level Training Evaluation Modellll, Tyler
D. Countenance model IV. Stake
V. Bradley

Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gART fifeg

AT -l AT -l
PRI GIE T KL EEIGH
A. garfaar atea I. feadfes
B.WET-YF UIeH || . fewas
C. =TTy widrew yeaisa afes || Il. ZTZET
D. af¥reufs wizw Iv. 2%

v, et

= faT o faswsat & 4 gt s gfaT:

[Question ID = 563][Question Description = $2_qSNz_PG_EDU_Q55]

1. A-1,B-1l,C-1II,D-1V

[Option ID = 2249]
2. A-I,B-IV,C-1I,D-¥

[Opticn 1D = 2250]
3. A-V,B-1,C-1,D-IV

[Option ID = 2251]
4, A-N,B-1,C-NI,D-IV

[Option ID = 2252]
Carrect Answer ;-
o A-LEB-I,C-1I,D-1I¥

[Option ID = 2249]

56) Finding solution of problems by creating proper environment is the main essence of which philosophy?

v farg of@ e g9 g7 F9547 T A9 &7 P sfa s14a a7 87

[Question ID = 564][Question Description = §2_qSNz_PG_EDU_Q61]

1. |dealism/==staTs
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[Opticn ID = 2253]
2. Naturalism/THiarE

[Option ID = 2254]
3. Biological Pragmatism/=Tr sragrears

[Option ID = 2255]
4, Existentialism /atfeaea=ns

[Option ID = 2256]

Correct Answer ;-
e |dealism/sTEsETE

[Option ID = 2253]

prepp
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57) “God, the great giver, can open the whole Universe to our gaze in the narrow space of a single land” was said by-

ST, T AETT 7747 §, Tt uwa spfir & 4ol ooe g6 9qf sg[Tee =7 2407 7 96971 2. 98 Frasr a7 87

[Question ID = 565][Question Description = $2_qSNz_PG_EDU_Q62]
Plato/=#=t [Option ID = 2257]

Rabindranath Tagore/<f&=amy 39T [Option ID = 2258]

Swami Vivekananda/=mdT [HE=g [Option ID = 2259]

Mahatma Gandhi/ggTaT TteT [Option ID = 2260)

e it B

Correct Answer ;-
e Plato/=2T [Option D = 2257]

58) Match the given theme in List | with most suitable School of Philosophy given in List Il

List |

List Il

Theme

School of Thought

A, Recognizes ideals and beliefs on the basis of experiments

|, Idealism

B. Recognizes truth beauty and goodness of self- consciousness

ll. Existentialism

C. Recognizes no clear-cut difference between matter and consciousness,

lIl. Pragmatism

D. Recognizes the inner and immediate realization

IV. Naturalism

Choose the correct answer from the options given below:

gt -l F7 gt -1 § gafay Nfvo:

il gt -l
ELE] =
;-{::’r; F AATT T AT AT AILATSH FYATAATILT | e
B. ATEA-ATAT ®1 AYTE, Fraar AT =z *rAr=991  |Il.

NI FLTE laﬁm

C. aard sz Igar & stsr Fr wwg fFrdg 9 wraar |'"' .

D. arfen® o geafors arqgqfa Fr AT=gaT wIrA FIAT I;;‘ﬁ
= AT g fFweTi & & aft sz gig:

[Question ID = 566][Question Description = $2_qSNz_PG_EDU_Q63]
1. A-LB-ILC-M,D-I¥

[Option ID = 2261]
2. A-NI,B-1,C-1¥,D-1

[Option ID = 2262]
3. A-NLB-IV,C-1I,D-1

[Option ID = 2263]
4, A-1L,B-IV,C-1l,D-1N

[Option ID = 2264]
Correct Answer ;-
e A-LLB-1ILC-M,D-I¥
[Option ID = 2261]

59) Which of the following statements are true :

A, According to Sankhya both Spirit and Matter are Infinite and External

B. Upanishad dispels ignorance and takes the person desirous of emancipation near God and frees the bondage of birth and

death

C. Kain is one of the Chief Upanishads
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D. Shankaracharya has supported Bhaktiyoga of Gita
E. According to Mahayana a man should strive for his own emancipation

Choose the correct answer from the options given below:

frafafEa A F st d Faaadr g2

A, gisT 3 ggare 73y A wgfo 991 adtfHa shicag g

B, IufAos A9 %7 gL FIAT ¢ AT AfrsAr safm sT g F g o Arar d qar S aa-g 3 F9T & LF FIAT8.-
C.d7 T IIMUSTIA A TFE

D. siferad A Miar % AfwarT sTaada fear g

E. AETATA T ALHTL ATH FT 794 IR F fre w318 FIA7 AT 0.

= R fawedi & § 9t SO g ¢

[Question ID = 567][Question Description = §2_qSNz_PG_EDU_Q64]
1. A, Band D only/33 A, B 3T D

[Option ID = 2265]
2. B,CandEonly/¥3= B, CsliTE

[Option ID = 2266]
3. A, Band Conly/@as A, BT C

[Option ID = 2267]
4, B, Cand D only/F3=7 B, CsiT D

[Option ID = 2268]
Correct Answer -
e A, BandDonly/@as A, BT D
[Option ID = 2265]

60) Mmaharshi Patanjali has spoken about Five kinds of Chiitavriti or Mental Processes. Arrange them sequentially :
A. Enables us to get true knowledge of things

B. Remembrance of the subject retained in memory

€. In dream an object is not present, seems to be present

D. Which depends on words in the absence of the concerned object

E. False knowledge that does not allow one to get true picture of anything or situation

Choose the correct answer from the options given below

wgfh agwf 3 afs 71T 97 Prog iy w1 99dw frar 3. o+ saaTe gaafigy 3.
A. g9 AT F areafAF AT IR AR R DT IATATE

B. T arfcy frwy w7 arg AT

C. waw ¥ F1§ gvg sufedy €7 141 &, avfeqa odra v

D. St &% fire 7eg 77 g yfRafy # T o fdTwear g

E. &gy 17 =% w1 Pra’ awg ar Refy S agft srastd g adt 51 397

= frg g faseyi § ] wgr e g

[Question ID = 568][Question Description = §2_qSNz_PG_EDU_Q65]
Tl By G B

[Option ID = 2269]
2, A,E,C,D,B

[Option ID = 2270]
3. A,D,EC,B

[Option ID = 2271]
4, C,D, B, AE

[Option ID = 2272]
Correct Answer :-
e A B CDE
[Option ID = 2269]
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61) Match List | with List Il

List | |List I

Chief-Tenets REspRCLive
Forum

A. Provides a framework of virtual repository of learning l. Virtual

resources with a single window search facility Labs

B. The training for teachers and students is imparted through

assess the understanding of the knowledge acquired

Il. Swayam
workshops where participants are taught basics of embedded Prabhay
systems and programming
C. Provides a fully interactive simulation environment to lil. E-
perform experiments, collect data, and answer questionsto |~

D. An initiative to provide 32 high quality educational [IV. National
channels through DTH to deliver e-education in a most cost  [Digital
effective & inclusive manner Library
Choose the correct answer from the options given below:
AT -1 %7 gAT -1 | gRfAg Fifee
AT -1 AT -1
HET T a‘;‘f&a
A. TF-EqTTAS @1 giogr # vy sfdrww Fargat & araret avg)l, ararHT
BT dF TLTT FLAT S TRTATATY
Eamﬁ #rz Frefiat &7 srdararat § ATeaw |/ girsgor .
grotar € forad gfaartaat &1 swerrfya g1 o< Srarfen £ w

mtfers srawTdh & st 2.
C. AFHT ATT FT FHAA F LITHT g TAIT FIA, TTST HAF FIA
ST Tt FT IV AT F oy wF Ooia: Fa:Frareas sgsao af@ajin. -9
qETH FLAT S
D. &gy wvorg wATHT st wRTA off A | S-frar vz s@ v o
& T drew R ATETA F 32 IF AOUTEAT ATH AAA TITA FLA AT

TARTAY

e e

#9 fyg oy et & & 9t saegig:

[Question ID = 569][Question Description = $2_qSNz_PG_EDU_Q71]

1. A-NILB-LC-I¥,D-1

[Option ID = 2273]
2. A-IV,B-N,C-1,D-1

[Option ID = 2274]
3. A-ILB-N,C-1,D-IV

[Option ID = 2275]
4, A-I,B-NL,C-11,D-I

[Option ID = 2276]
Correct Answer ;-
o A-NIILB-1,C-I¥,0-11
[Option ID = 2273]
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62) Which of the following online learning destination founded by Harvard and MIT in 2012, which offers courses from the
world's best universities and institutions to learners everywhere?

A S T gRaArsar g7 2012 & zq7ivy fFraferfyg & & st7 o1 atqarga aftw SR=a a7 fara 3 agiow PraR=maat st

HEATAT & ITSaFA ATATATAI S F1 T AF TG 2T FIATE?

[Question ID = 570][Question Description = $2_qSNz_PG_EDU_Q72]

1. Moodle /g

[Option ID = 2277]
2. edX/EEhrrg

[Opticn ID = 2278]
3. CEMCA/SSmaeiT
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[Option 1D = 2279]
4. Linked in/foiFz 37

[Option ID = 2280]
Correct Answer ;-
¢ Moodle/g==
[Option ID = 2277]

63) Match List | with List Il

List | List Il

Chief Characteristic |Learning School

A. Learning hap!:ens when a learner c:btams new or I. CONSTRUCTIVISM
changed behaviour as a result of a stimulus

B. learning is about internal cognitive processes or the  [Il. HUMANISTIC
handling of symbols in the mind. THEORY

C. focuses on individuals and the mental structures they
possess, and how those structures and past experiences/
knowledge speak to and influence the construction of
various things

(l1l, CONNECTIVISM

D. students learn best when their natural desires
and inclinations to be creative, to grow, to learn etc. are IV. COGNITIVISM
harnessed rather than changed or suppressed

[V. BEHAVIOURISM

Choose the correct answer from the options given below:

AT -l w7 AT -1l | gART i :

AT -l AT -l
FfgTHy

e Erdwar [
A. T TS ATYTAFTT SETIT B FATAET ASTT FqaqT Iigiag I
FAEIX TTH $LaT ¢ at Aty afeq grarg CEREIEDE
B. srfyrorw %1 @y g fes dAT91e7+ gFAT orga7 Afeasw § %47 :}waﬁrar =
B HEATATE & Rt
C. T ATA U THvgy % Fiw o safy arafas g aara i
HTFATY oz qF aawa/aTy Py gere Ty s S sqraz a1 e e e
THTIT F5d § WX SA8 darg $¢d §
D. afy fa=rfdat 91 wwfas oo T gFma- |Tren T T, v

T AT, FraaT, gearfy- afeafds arafra 5@ A sog ﬁ'n_ﬁm,

WIeATIRT F1 STt € aF Ia=T aAiaq ATqTT Srav .

V.
F’EIET?EI'TE‘
= AT g fFweTi & & aft sz gig .

[Question ID = 571][Question Description = $2_qSNz_PG_EDU_Q73]
1. A-V,B-IILC-1L,D-1

[Option ID = 2284)
2, A-IL,B-1,C-IV,D-V

[Option ID = 2281]
3. A-V,B-NI,C-IV,D-1l

[Option ID = 2282]
4. A-V,B-I¥,C-1,D-Il

[Option ID = 2283]
Correct Answer ;-
« A-LB-1,C-W,D-V
[Option ID = 2281]

64) Arrange the first five instructional strategies used in e- learning in sequential order

A. Information presentation: The web pages display textual as well as graphical information for the learners,
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B. Guidance and Cellakoration: E-mail and anling asynchronous discussion group facilitate cellaberation on the web.
C. Decision-making: Computer and web technolegies allow learners to take their own decision to follow links provided on the pages.

D. Drill and Practice: As in computer assisted learning, the web also provides drill and practice opportunities. Using formative assessment techniques in the

course content presented in small web pages can lead to optimized learning.
E. Feedback: Learners can receive automated feedback to their assignments, and interaction with formative assessment tools in the web pages.

Choose the correct answer from the options given below

LT § v 7w O T A2 Ameas ;A AT w17 w99 geafiga w7

A. g7 weL Y #7 98 wiyrasof 2 fsgnfer ot gaamrwifasa §

B. #7H-Frder shT ar@ ardh: -4 T SaAre srwew s 99 agg I AR IO ST IATATH §

C. frofae: Fvgex o7 39 mranfafead sfrresafal s ead arar s s F agg g § orfs S el v rea fasiasaras

D. Fg= sz srvara: gex wyfia afyaw 1 a8 39 97 13w @ T TeqT9 AF g NITT FIATR . 70T A7 CHT F  FqT UISTHA AAAFe7 & TTATHAF 47 AT
FEATS 7T ] sEaa Afgw gra+ar .

E. wfagf: aifiprasat stow srat 1 sa=nfere sfagf wra s awe € s Ia 18l 7 19T agisa & 479 o0 forar sxasa €
= frg e fasent & @ agt gz g+ :

[Question ID = 572][Question Description = 52_qSNz_PG_EDU_Q74]
T G B DL

[Option ID = 2286]
2. C,A B D,E

[Option ID = 2287]
3, A, C,D,BE

[Option ID = 2288]
4. A,B,C,D,E

[Option ID = 2285]

Correct Answer ;-
« A B C,D,E

[Option ID = 2285]

65) Which of the following options are correct for synchronous learning?

A. Synchronous learning refers to a learning event in which a group of participants is engaged in learning at the same time
B. Participants can learn in their own time and schedule

C. Real-time feedback for the instructor

D. Self paced learning

Choose the correct answer from the options given below;

wgFTias afawy & fog fFafafaa § & stvarRssradi §7

A, ggaTfas affraa w7 are0d oF THT siffrrg gear 4 ¢ rad s wfawrfiagg s frangafmma # tadrar g
B. 9fawTift arad =97 ® 97 it gt * sqga afyrwr F5@ &

C. sq2a% & fou areafas gawy gfRagf

D. Tg-wriy® iy

A oo fArweat 7 @ gt g9 g

[Question ID = 573][Question Description = 52_qSNz_PG_EDU_Q75]
1. Aand Bonly/F37 AT B

[Optien ID = 2289]
2. Aand C only/#aw A C

[Option ID = 2290]
3, A, Band Conly/¥39 A, B #fiT C

[Optien ID = 2291]
4. B, Cand D only/F== B, C #iX D

[Option ID = 2292]
Correct Answer :-
e Aand B only/F99 A ST B
[Opticn ID = 2289]
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66) Which of the following theory may support this statement- “The teacher should encourage the student to discover their
own connections between seemingly discrete information, using different means (e.g. Twitter, wikis, blogs, open
educational resources)”.

fraferfag & | #17 a1 AZia 29 597 w1 a9dT Fa7 - "Tearas w7 Farfagi £ g aradd # yaiwgra @8, Razy,
fatym, soiiva, g 4Ths a97yT) w9z =79 gy g=a7 3 = = 9@ 90 dev # oy vrearieg s g

[Question ID = 574][Question Description = $2_qSNz_PG_EDU_Q76]
1. Cognitivist/gamarEas

[Option ID = 2293]
2. Constructivist/97=49Tcq+

[Option ID = 2294]
3. Connectivism /=T E

[Option ID = 2295]
4. Humanistic/HHE9=F

[Option ID = 2296]
Correct Answer :-
e (Cognitivist/FaTareas

[Option ID = 2293]

67) Which of the following are the Asynchronous Learning Platforms?
A. WebeXx

B. Moodle

C. Canvas

D. Google meet

Choose the correct answer from the options given below:

frafafaa ¥ @ #ra sagwrfas afdry eqzwid §7
A. AIFT

B. =TT

C. haaTH

D. e Hiz

= frg g fawei § | 9t SO g+ ¢

[Question ID = 575][Question Description = $2_qSNz_PG_EDU_Q77]
1. Aand B only/#amT AT B

[Option ID = 2297]
2. Band € only/#37 B AT C

[Optien ID = 2298]
3. Aand C only/#ae A &% C

[Option ID = 2299]
4. Band D only/3a+ B < D

[Optien ID = 2300]
Correct Answer ;-
e A and B only/Faw A ST B
[Option ID = 2297]

68) Match List | with List Il

List | List Il

Social Theories
Key Features

4, Symbolic interactionism I. Use Symbols, Face to face Interactions
B. Structuralism Il. Aspects of society & its functions
C. Functionalism lll. Competition for scarce resources

. I¥. Breaking down mental processes into small
D. Conflict Theory
components

Choose the correct answer from the options given below:

gt -1 F1 gt -1 § Aty Afvo:
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T -1 AT -l

CIRNEERE AL & FiasT

A. FIRTrE ava:BramaTe | 9939 F7T 909, @A arae sae

B. §TFTATE I, FRHIS 3 T M 95 TH1H

C. TFEIFITE . s garyat ® FRro sfaanfar

D. g9¢ fagia IV. ATafrs oFeT &7 A v2Hf § frwew

F9 frg oy faweat & & gt saegig:

[Question ID = 576][Question Description = $2_qSNz_PG_EDU_Q78]
1. A-LL,B-IV,C-1I,D-1

[Option ID = 2301]
2. A-I,B-IV,C-1,D-1

[Option ID = 2302]
3. A-NLB-1,C-N,D-IV

[Option 1D = 2303]
4. A-LLB-IV,C-1II,D-1

[Option ID = 2304]
Correct Answer ;-
e A-LB-IV,C-1,D-1I
[Option ID = 2301]

69) Which of the following are key components of Care Model of Nel Noddings?
A. Modeling

B. Dialogue

C. Practice

D. Confirmation

E. Originality

Choose the correct answer from the options given below:

faaafafye & @ w17 a9 NfEya ® fraiea ® ger 925 §7
A. gz

B. §9T%

C. ¥

D. 7f%

E. ®tf3r=aT

= g g fweTi § | gt sOL g+ ¢

[Question ID = 577][Question Description = $2_qSNz_PG_EDU_Q79]
1. A, B, C and D only/®9= A,B,C iz D

[Option ID = 2305]
2. A, C, DandE only/F37 A,C, DT E

[Option ID = 2306]
3. B,C,DandE only/39= B, C, DT E

[Option ID = 2307]
4. A, C,Dand Eonly/@a= A, C, DIATE

[Option ID = 2308]

Correct Answer :-
e A, B, CandDonly/375AB,C#HZD
[Option ID = 2305]

70) Who coined the term ‘Sociological Imagination’?

At A aT g fRad fean

[Question ID = 578][Question Description = 52_qSNz_PG_EDU_Q80]
1. Giddens/TEw

[Option ID = 2309]
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| 2. Michael Young/ATgH=T T7T

[Option ID = 2310]
3. Nicolas Sarkozy/ e ae=istt

[Option ID = 2311]
4. Wright mills/TrEe faeg

[Option ID = 2312]
Correct Answer ;-
e Giddens/fEg
[Option ID = 2309]

71) The most difficult part in doing cost benefit analysis is to determine:-

AT AT frgaw 23 § wai fus o7 ara 8-

[Question ID = 579][Question Description = $2_qSNz_PG_EDU_Q81]
1. Tangible benefits and costs/Ta @Y ¥ AT

[Option ID = 2313]
2. Intangible benefits and costs/ 3 #TH 3% A0

[Option ID = 2314]
3. Private economic costs/To= s =g

[Option ID = 2315]
4. Total monetary expenditure/%= wife® =1g

[Option ID = 2316]
Carrect Answer ;-
» Tangible benefits and costs/gd ATH ST w07

[Option ID = 2313]

72) Yashpal Committee report is titled as:-

Ferarer gty frard w71 ofivfs g

[Question ID = 580][Question Description = §2_qSNz_PG_EDU_Q82]
1. ICT in teacher education/=r=aT9F =T ¥ arsdiar

[Option ID = 2317]
2. Education and national development/for si T8 fa=m

[Option ID = 2318]
3. School without walls/gtaTe «fga f=mea

[Option ID = 2319])
4, Learning without burden/ 8 fBET o &

[Option ID = 2320]
Correct Answer -
e |CT in teacher education/=r=aT9F TIETT ¥ arsdias
[Option ID = 2317]

73) Which one one of the following is not involved in policy making decisions:-

famfafag o | #va Ay Pafoor fFAofat § arfyre adi Srae

[Question ID = 581][Question Description = 52_qSNz_PG_EDU_Q83]
1. analysis of the existing policy/fa=mm ifer =1 oo

[Option ID = 2321]
2. generation of policy options/ e geeft fasedi =1 gt

[Option ID = 2322]
3, policy impact assessments/ =T % THTT &1 ATFHT

[Option ID = 2323]
4. evaluation of policy options/=ia T8t Frwesi #1 qeaisy

[Option ID = 2324]

Correct Answer :-
e analysis of the existing policy/ BE=ram §ifa F1 =remm

[Option ID = 2321]

74) Which one of the following is emphasised in the NEP-2020

Tty frar e - 2020 7 frafafga & | ra gcaa fegraar §?
[Question ID = 582][Question Description = $2_qSNz_PG_EDU_Q84]
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| 1. what to learn/=47 H&T 3

[Option ID = 2325]
2. when to learn/F7 dftaT &

[Option ID = 2326]
3. where to learn/%g! #&E+T &

[Option ID = 2327]
4. how to learn/F% HtawT &

[Option ID = 2328]
Carrect Answer ;-
& what to learn /47 H&@aT 3
[Option ID = 2325]

75) Deschooling Society is written by

Freg i grarsdt P aww §-

[Question ID = 583][Question Description = $2_qSNz_PG_EDU_Q85]
1. Ivan Illich/zaT™ geeir=

[Option ID = 2329]
2. Jerome K Bruner/Sid & FA<

[Option ID = 2330]
3. David Hartley/2fas grd=r

[Option ID = 2331]
4. Robert Sherman/IEs o<+

[Option ID = 2332]
Correct Answer ;-
e [van Ilich/Z3T Toei=
[Opticn ID = 2329]

76) Pedagogcal content knowledge in the field of teacher education was first put forward by:-

weqrys fareror & a7 # frayr arety yyg.geg arq 1 797 fead g

[Question ID = 584][Question Description = 52_qSNz_PG_EDU_Q86]
1. Habermas/ga<ary

[Option ID = 2333]
2. Le Shulman/=1 ¢&AT

[Option ID = 2334)
3. Deng-Xio-Ping/= -farsmar-for

[Option ID = 2335]
4. Luke/#g%F

[Option ID = 2336]
Correct Answer ;-
& Habermas/ZaLamg

[Option ID = 2333]

77) The centrally sponsored scheme of Samagra Shiksha subsumes which of the following schemes:-

% mtor au T frgrsw § frafataa § @ f5a w6y w1 e fraraar?

[Question ID = 585][Question Description = §2_qSNz_PG_EDU_Q87]
1. SSA, RMSA and TE schemes/TATHT, ARIHUHY AT #% Shid

[Option ID = 2337]
2. KGBY, Mahila Samakhya and ICT@ Schools/Fsffiet, afger awear s avizftdh @ opew

[Option ID = 2338]
3. MDM, VE and Eklavya Model Schools/Tasiud, 12 #iT waersn vizw f=meg

[Option ID = 2339]
4, |EDSS, SPQEM and Setting of model schools at block level/ s ruauy, afiFEuA T T&= w7 9¢ Aiew fS=r=ai St wqra=y

[Option ID = 2340]

Correct Answer -

e SSA, RMSA and TE schemes/TamHT, Meuquay i €5 ofid
[Option ID = 2337]

78) Dr. X, a teacher in school always takes time to analyse her classroom process, to identify more than just what went in
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the classroom, what worked and what did not. She is practising -

faerrag &t vw frfarsr, et X far @ afeg arat & 9919 $1 00597 F7 F 9T 927 97 w507 F AGwow I auy fFwradt €

P war & F97 gar , ¥4 FH TR e a7 7Y (a7 9 frasr rvqra 3T 7

[Question ID = 586][Question Description = §2_qSNz_PG_EDU_Q388]

1. inquiry oriented teaching/¥9 =@ F=ATIA

[Option ID = 2341]
2. reflective teaching/MaaT<F sregmoe

[Opticn ID = 2342]
3. competency based teaching/TerqaT smania wsaTT

[Option ID = 2343]
4, expository teaching/=ITETH® AHTIH

[Opticn ID = 2344]
Correct Answer :-
® inquiry oriented teaching/¥9 579 JI=T9A

[Option ID = 2341]
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79) Match List | with List Il

List |

List 1l

Subject

Article of the
Constitution

A. Education of Minorities

I. Article 21 A

B. Instruction in Mother tongue at a primary
stage

Il. Article 29

C. Right to Education

[1l. Article 30

D. Right of Minorities to establish Educational
institutions

V. Article 46

V. Article 350 A

Choose the correct answer from the options given below:

gt -1 F71 gt -1l § gafag AfSo:

T -l =t -

CRECICE A
ERE] e
A Teqd BT F1 farar I. TT=RT 21A
B. W= 9T 9T AT AT § HARAA |||.a=ri%@a 29
C. Rrar %7 arfree . arg=2= 30
D. {8 e =10 37 1 ATOE AR FT

Fori V. Fq=2T 46
V. 58T 350 A

#9 frg oy faweat & & 9t saegig:

[Question ID = 587][Question Description = 52_qSNz_PG_EDU_Q89]

1. A-Il,B-¥,C-I¥,D-1ll

[Option ID = 2345]
2. A-ll,B-V,C-1,D-1V¥

[Option ID = 2346]
3. A-1LB-M,C-1,D-V

[Option ID = 2347]
4. A-1,B-V,C-1,D-1

[Option ID = 2348]
Correct Answer ;-
e A-ILB-V,C-I¥,D-1l
[Option ID = 2345]

80) The guiding principles for curriculum development in NCF-2005 are;:-
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A. Connecting knowledge to life outside school
B. Ensuring that learning shifts from rote methods
€. Nurturing an over-riding identity informed by caring concerns within the democratic polity of the country
D. Emphasis on examinations
E. Teacher centred education
Choose the correct answer from the options given below:
TAHTTE-2005 | are=4i (s & forg ard - af g €:-
A. TaremeT & STETFTT HT StaT & ArEAT
B. X g & srfewrw o gawar giafaa w7
C. TP HY AIFATPAF =FaeqT F WMo ag-3g ga 4} gt g dgfa searadt sefqar #1 g0 fyg AT
D. w0ryral X A
E. sreaTaw sf#ga farar
= fRT o fawedi & ® 9gt SO g ¢

[Question ID = 588][Question Description = §2_qSNz_PG_EDU_Q%0]
1. A, Band Eonly/&as A, B i E

[Option ID = 2349]
2. B,CandEonly/¥a9 B, CslitE

[Optien ID = 2350]
3. A, Band D only/@as A, B i€ D

[Option ID = 2351]
4. A, Band C only/#3< A, B 3T C

[Option ID = 2352]
Correct Answer -
e A BandEonly/3T A, B #iTE
[Option ID = 234%]

81) An institution wishes to apply for the assessment and accreditation from NAAC. Which of the following performance
indicators it should focus on as per NAAC requirements

A. Teaching learning and evaluation

B. Curricular aspects

C. Election of students union members
D. Infrastructure and learning resources
E. Students support and progression

Choose the correct answer from the options given below:

Ffr T gear A T U AT |/ goA1ET AT weF1IT 3 AT ard T s ATt 97 S€ A v U AT T AT 47IH B AAR
fawfafag o | fm wesfa FRTF0 sq77 A %7 FIAT IR

A. fargror stferr st gegisa

B. TTSIHH F T2

C. BT €9 g1 FT AT

D. srag =T 3T aafyrrw saraT

E. BT guea sirT g w

= g g el § | 9t SO g+ ¢

[Question ID = 5892][Question Description = 52_qSNz_PG_EDU_Q91]
1. A, B, Cand Donly/33s A, B, C&iTD

[Option ID = 2353]
2. A, C,DandEonly/Fa9 A, C, DATE

[Option ID = 2354]
3. A, B, DandEonly/3T5 A, B, D&ITE

[Option ID = 2355]
4. B,C,DandE only/%aw1B, C, D3 E
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[Option ID = 2356]
Carrect Answer ;-
s A B, CandDonly/Fa7 A, B, C3iT D

[Option ID = 2353]

82) The new pedagogicaland curricular structure envisaged for ECCE in NEP-2020 is

NEP-2020 ® ECCE # f3rg fer=ariem % Tdrat wratw wrea=aif == &

[Question ID = 590][Question Description = §2_qSNz_PG_EDU_Q%2]
1. preparatory/3am¥l T =<0

[Option ID = 2357]
2. foundational/g=ardt

[Option ID = 2358]
3. early childhood and care education/T<iesE FrearaedT T s@wre St e

[Option ID = 2359]
4. middle/dareriv=

[Opticn ID = 2360]
Correct Answer -
e preparatory/SaT w1 T

[Option ID = 2357]

83) PARAKH is proposed to be set up as:
77" (PARAKH) =Y 7 9 # =q1fUT 37 =7 weq19 27

[Question ID = 591][Question Description = 52_q5Nz_PG_EDU_Q93]
1. National training centre for teachers/féreq=i # fory i afvrerm i

[Option ID = 2361]
2. National assessment centre/ITEHT oI %5

[Option ID = 2362]
3, National testing agency/Tror gitar werHT

[Option ID = 2363]
4. National digital repository/<rgt ERea Rewmme

[Option ID = 2364]

Correct Answer ;-

e National training centre for teachers/férari # U i g F5
[Option ID = 2361]

84) The sequence of steps taken by policy makers using Rational choice theory is:-

A. discover all the alternative policies available to accomplish the values.

B. identify all the value preferences currently existing in a society and assign each value a relative weight.
C. involves only small number of persons to allocate values for society and not the masses.

D. know the total cost and consequences of each alternative policy.

E. select the best alternative which is also the most efficient in terms of costs and benefits of social values.

Choose the correct answer from the options given below
it frarfaret grer g wa fassy fAETa F1ITNTFE USSTT TY FIATFTHAE: -

A, &gt F1 ITTY § SUTsq gt Ffeqs Afaat #1@1T F

B. F9ma # U aATH ¥ wiqg oot gex a07ardl a7 vg17 % ot T 7o F 4T £ OF AT T WA FY
C. A1 & fIIT g=aT # sndeT ¥ J799g F71 7871 a7g fq7 79 gear & a1 w5+ arfya w31

D. wed= FFfea®w Ay &t g7 wrag s afonre 18

E. 998 %7 7 377 FF 1 arArfas gaat &7 g st a9t & g2 F 98 afrsaaa

A oo fArweat 7 @ gt g9 g
[Question ID = 592][Question Description = 52_qSNz_PG_EDU_Q9%94]
1o BoA; D E

[Option ID = 2367]
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| 2. D,B,A,C

[Option ID = 2368]
3. A,B,C,E

[Option ID = 2365]
4, C,AD,E

[Option ID = 2366]
Correct Answer ;-
« A B C,E

[Option ID = 2365]

85) Arrange the following in the chronological order of formation
A. Wardha or Basic scheme of Education

B. Rammurthy report

€. Mudaliyar commission

D. Kothari Commission

E. University Education Commission

Choose the correct answer from the options given below

famfafaa 7 393 7359 F FIAFNF 79 § swafag $3

A. =gt 71 forar & gfrardt v
B. Tragf¥ feard
C. garferae wetaw
D. w131t ar AT
E. RrafEesy frar spaw
= Ry g e & | 9t SO g+ ¢

[Question ID = 593][Question Description = $2_qSNz_PG_EDU_Q95]
1. A,B, C,D,E

[Option ID = 236%]
2. A, E,B,D,C

[Option ID = 2370]
3. B,C,E, D, A

[Option ID = 2371]
4. A,E,C,D, B

[Option ID = 2372]
Correct Answer ;-
« A B C,D,E
[Option ID = 2369]

86) Match List | with List Il

List | IList 1
Verticals of HECI |Funct‘ians
A. NHERC I. Funding
B. NAC 1. Regulation
C. HEGC |III. Academic standard setting
D, GEC Iv. Accreditation
V. Professional development

Choose the correct answer from the options given below:

gt -1 Fr gt -1 § gafag Afvo:

AT -l AT -l
9T T A Ieai 9% T
A. T T arT At I. Frferaa
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B. TF T &Y Il RfrTaa
kil 1. srefore waT syaEar
D. &t € &Y Iv. srearaa

V. FAqIfYT ATy

#9 frg oy et & & gt saegig:

[Question ID = 594][Question Description = §2_qSNz_PG_EDU_Q%6]
1. A-ILB-Iv,C-1,D-I

[Option ID = 2373]
2. A-ILB-IV,C-¥,D-1

[Option ID = 2374]
3. A-LBE-I,C-1¥,D-V

[Option ID = 2375]
4, A-N,B-NL,C-1,D-1

[Option ID = 2376]
Correct Answer :-
o A-,B-IV,C-[,D-1l
[Option ID = 2373]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The regulatory system of higher education should ensure that the distinct function of regulation,
accreditation, funding and academic standards setting are done by independent bodies.

Reason R:  This will help to redistribute workload with ever increasing number of institutions,

In light of the above statements, choose the correct answer from the options given below
9 AV FqT Ruawd ;. oF w7 AfHw597 (A) AT FT 7F (R) FEITATR

afirwas (A) ;= Porar 1 famms da w1 a8 gt s ariRe 0 wds et g fFtvass, o, Aiggs &
fefors grawT &1 varoar w7 fafsre =14 frar o

T% (R) Y AT FT 9TT T FAT F A9 FrL AL FY AT w3 F wgryw o0r
ITLF FIAT F wAF ¥ Awifrg fywedt & 4 gdrsac g

[Question ID = 595][Question Description = 52_qSNz_PG_EDU_Q9%7]
1. Both A and R are true and R is the correct explanation of A/{A) 3l (R) F4T 921 £ T (R), (A) 7 721 =qT=AT &

[Optien ID = 2377]
2. Both A and R are true but R is NOT the correct explanation of A/{A) =< (R) =i @& £ 957 (R), (A) F @& =veT 981 &

[Option ID = 2378])
3. Ajs true but R is false/ (A) W2 & TR (R) et 721 &

[Option ID = 2379]
4. As false but R is true/(A) 75t 787 & Torg (R) 981 &

[Option ID = 2380]

Correct Answer :-
& Both A and R are true and R is the correct explanation of A/(A) &% (R) 3141 el & oL (R), (A) T 9Er =qm=AT &

[Option ID = 2377]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A:  The revision and revamping of all aspects of the educational structure, including its regulation and
governance is necessary

Reason R: Education system is facing unprecedented challenges .

In light of the above statements, choose the most appropriate answer from the options given below
AT A waa freac g : oF = AfFgT (A) T gaT F I (R) FITTATE

afrwgd (A) :  Sefors Goar S o oat &1 3R Wi T b argq afYw oy st gadrean sryeas 2
I% (R) : farerr worrsft =Y ey AT T ATAAT FTATIE QTR

SUA T HAAT® AATF F (Auifwa Frwewt & § gt sTCAA ¢

[Question ID = 596][Question Description = $2_qSNz_PG_EDU_Q98]
1. Both A and R are correct and R is the correct explanation of A/(A) 4% (R) =141 & € 4% (R), (A) F1 ot == ¢

[Option ID = 2381]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3T (R) =41 @21 § 94 (R}, (A) FT AZT =T&dT 51 &

[Option ID = 2382]
3. Ais correct but R is not correct/(A) & & 7o (R) oet T €
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[Option ID = 2383]
4. Ais not correct but R is correct/(A) A1 A51 & 94 (R) W2l &

[Option ID = 2384]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) #i% (R) =197 war € 4T (R), (A) T i =ar2m &

[Option ID = 2381]

89) Given below are two statements

Statement I: The school complex/cluster aimed at greater resource efficiency and more effective functioning,
coordination, leadership, governance, and management of schools in the cluster.

Statement ll: The Kothari commission recommendation on school complexes could not be implemented since the school
leaders, teachers, students, supporting staff, parents, and local citizens of different schools grouped in
school complex/cluster objected to it.

In light of the above statements, choose the correct answer from the options given below

M A Faq e e -

FUT- | :  Toraw ofmy/ 7em o738 9F 75 F Aaraat 21 atgs g 9197 a7 @< (tys vart 1997, gHTT,
T, ATAAAHTNTGT

a7 - 1l : e o @\ e sierh AT 1 Rrethea w1 a8 frar o ast w300 Rreagt £ Fasi, fras,
FraT, 9graE ATy, arar-far, &< fraray oftg F ayfee s Aarast & eqrdy arafest 8 g9 o7 srafyr g€ 9%

ITLF FIAT * awAF ¥ Awnfrfyg fwedt & 4 afrsacad

[Question ID = 597][Question Description = 52_qSNz_PG_EDU_Q99]
1. Both Statement | and Statement || are true/®4= | 3% || F9F 72 8

[Option ID = 2385]
2. Both Statement | and Statement |l are false/®=w | 3% || =T o7 £

[Option ID = 2386]
3, Statement | is true but Statement Il is false/®97 | Tl &, Frg F97 || T9a &

[Option ID = 2387]
4. Statement | is false but Statement Il is true/®9 | /o7 &, Fmg #or |l 9t 2

[Option ID = 2388)

Correct Answer :-

e Both Statement | and Statement || are true/F9 | i< || =191 72 &
[Option ID = 2385]

90) Given below are two statements

Statement I:  Covid-19 has led to potential opportunities for disruptive technologies to offer solutions which, aside from
their long-term interest, can potentially maintain business continuity, enhance health-care outcomes and avoid service
disruptions.

Statement ll; Disruptive technology will make certain jobs redundant, and hence approaches to skilling and deskilling that
are both efficient and ensure quality will be of increasing importance to create and sustain employment.

In light of the above statements, choose the correct answer from the options given below

T A waa freacE -

FIT- | : T 19 F fHegars S PfFat & gurara ® o S af¥a g9 w1337 frar g, 9 e owd fidsforsfga a
TIFT, GHAAT: ATITL FLTCAT TATC T 94 §, T8 SWATH 3 I H7 T g1 997 € ATAAT ATOGTH I 9957 ¢

%97 - Il ; fasgas wrentifFat g2 AsRgt $1 fofs g1 30, @ safe gaeav s aagaee, Tt agq € s gors=n
gfafira #xa €, 1AL =T TITIATC @A F T ITOTTAGATATAT EIAT

STdF F991 # wrarE § wlarfag fAaedd & 4 afvsacaqd .

[Question ID = 598][Question Description = 52_qSNz_PG_EDU_Q100]
1. Both Statement | and Statement || are true/F9= | 3% || 991 72 8

[Option ID = 2389]
2. Both Statement | and Statement |l are false/®=w | 3% || =T 7o 7 £

[Option ID = 2390]
3, Statement | is true but Statement Il is false/® | HEr &, Tooeg #99 |) T4T &

[Option ID = 2391]
4. Statement | is false but Statement Il is true/F97 | a7 2, g FaT l odr &
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[Option ID = 2392]
Carrect Answer ;-
# Both Statement | and Statement Il are true/®a+ | 3% || THT T5F &

[Option ID = 2389]

Topic:- Education_SHZ_SHAAN_NOV21B

1) Read the paragraph given below and answer the question that follows

Marration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it turns them into "containers,” into
"receptacles” to be "filled" by the teacher. The mare completely she fills the receptacles, the better a teacher she is. The more meekly the receptacles

parmit themselves to be filled, the better students they are.

Education thus kecomes an act of depositing, in which the students are the depeasitories and the teacher is the depositar. Instead of communicating, the
teacher issues communigues and makes deposits which the students patiently receive, memorize, and repeat. This is the "Banking” concept of education, in
which the scope of action allowed to the students extends only as far as receiving, filing, and storing the depesits. They do, it is true, have the
opportunity to become collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away through
the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry, apart from the praxis, individuals cannot
be truly human. Knewledge emerges only through invention and re-invention, through the restless, impatient, cantinuing, hepeful inguiry human beings
pursue in tha world, with the werld, and with 2ach other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowladgeable upoen those whom thay consider te
know nothing, Projecting an absolute ignorance onto others, a characteristic of the ideclogy)of oppression, negates education and knowledge as processes
of inguiry. The teacher presents himself to his students as their necessary opposite: by considering their fgnorance absolute, he- justifies his own
existence, The students, alienated like the slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the

slave, they never discover that they educate the teacher.
fraffmiasTs st Roargygsrasa &,

arag T (rad ssrTTw araaTargia 1) § et areniye faagarg s o sod aesead €. a8 Aigdiaravgd e agfaadist s miwr g wgw &
FTA 2TTR, PR qegraw wear AT, orf Femirsr st gofar® sodgs s et agsaat gt a==t s vt 8. Frar R dssridgs =d w1
R AW & U ga @, agIaargr a=ar faargi grare.

gy firan us sarew s 99 91dt 2 Frad Rardf dewagshrasams sas 219 €. asyras g8y w3 F7 g anfashos e srdftsward strx
wErer HTATH fird et ddgdw wgwshveavwsrard shrggoarogard. ag frar s v srramror 2 frad et grogg o Sy oy fre gast
AT PRI F=RarafIFTrgw 2, 4 7398 91 T IF AT FT 0, 7T 92 PF9as yra d=rieg araiflt 14 a1gs gaargFreaad sFTagqegrar
2. frg R Rg o A, g v Tre st @ow satoa 1 ) ® s gyarmsan, s @z ara ® avreg s areaw & wg wrgraeTia s Eard . wqihe
Faa A ST asama & tfzgwtr ay a4t & a9 A Srawar. Faa a3 fT g7 A AT TITALST FITAFTA0TH, Fraaaagfruvrgar s arafvd
ST AT AT, A, ATT M AT AT S ATSTAE GYATA IPLA 21aAT2.

frrar AT ST AT F FTT = FTATHT AT 9rat FHAT grarsaAwg i 1 g ame ararussugie 2 foeg & swartame €. gadd w1 ool a: sravAt
HrAAr, At AT S gt d, uragEam aEe ® w07 Traw drara s AeagarEard . ssarrs RrgrfET £ araw =E S st araraw weaw
FATFTIELT FLATE; T°¢ [ AATAT ATA FLAZ 497 =99 R gfrgmasrAfysa rgsard, grafrdzaesram ¥ 52 arfrardfivsfageara$raity
FeATTF & ATew A F1 s aew frg <t gu oot saraarsTedfiwes o - feeg, o ora & 1arda, svf s sdiraragigavrar? P § stsgros =7 freor
FIA 5.

This passage depicts exiting education systems as ;
Ig e e faerata favar gordt #1 fhw €7/ wega s 87

[Question ID = 599][Question Description = $2_qSNz_PG_EDU_Q56]
1. Teacher-centered/sT=aT9¥F-Fivad

[Option ID = 2393]
2. Learner-centered/#@f8mm==t S

[Option ID = 2394]
3. Democratic/dFarva+

[Option ID = 2395]
4. Laissez-faire/sgvaery & i

[Option ID = 2396]

Carrect Answer ;-
s Teacher-centered/I=aT9h-Sl~ad
[Option ID = 2393]

2) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,” into "receptacles” to be “filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking” concept of education, in which the scope of action allowed to the students
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extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store, But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this {(at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideclogy)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence, The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher,

frafafég mia st vz sTiRT T AT 199 |

e (FRrad sremaw sreaTarErate) @ farfisrerrRa faarasg Mo Brsrd areszas g . sed Aigdaravgg frag
frardftr o ar g Aag®E A AT, R wegrow wrar @ard. S werrisrRradr goiar @ sgdgE Ry wedr e, agsadtrdt
= P s . SaTTRmagds F i dersd s TR I 3 royega Fare, agsaargrsearfaardfigare.

FETFHI AT us ssw ST aaard1 & forad frardf Wergdicasaras deT@ €19 §. asqrors Ehgw s Fr g arfasries
et T FaT g e HeewrsaTE R frardt dd b agor e sare dreggrrargars. ag i« <& sryaToon
2 forad RrardferusgsR friarer i eaft a2 Prag derramifr ST ogua s, 90 £1398 a8 T qra w3 3@, Tg 9y
 Prems o e amftsrarmEs AT s v STaaagars. g d g g, satevatyg ot (o wataw
=0 H) ¥ T PREgIaTeaFan, ST HTTIAR AATT R ATETA A eg Fr P At i ag@ g lrcaemw @ tiga=ats
g AR ATTTTZIETAFAT. TG A A TYT: FFA TN IATALSA TR AT-HCAR, ATGA-HAT ATCH AL S G563 9 a7at
HATHA, AHL, TIT A THMATITA AT D ATEAR G FIATAIIATZIATE.

fraTFT FHTIITIONTH FTTEE FTATATATAR 979 BT IO STATHA 1 RITATH Irar s8R e Beg 3 aardr a3 §.
A FT QO AT ATHAT, ITEATH FRAIIHTAFTINE, TFATALTTIRT R ETH frarw e ara Fr fAeaaaraard. asqr0s
Framfaai: 99 =g FTITFT IS I AT A TATF AT FLATE; Ivg QA @ AATATATTFIAT AN 09 » ARRqeawraffaca fag
FIATE. AT FTETare T NToT ¥ g N rardf exRgeara s wify gearosd aRaawrd@fer fag @ grardf aaraarsr
TFIIFCAT E- Feg, s adq, s ggsdtvaradigaamareg 3 asgrms sTirgwsa §.

The main characteristic of the banking concept of education is :

farerr 1 ST stagTwT 1 787 Afhagn g

[Question ID = 600][Question Description = $2_qSNz_PG_EDU_Q57]
1. The teacher tells and students listen/ =9 =ierar § o7 FH=mdT qaa 2

[Option ID = 2397]
2. Students speak and the teacher listens/fE=mdi srad € 3% smaras g9ar1 2

[Option ID = 2398)
3. Both teacher and students discuss with each other/srears & FE=m=l AT TH-g0< & F9 T4 HLd &,

[Option ID = 2399]
4. Students raise guestions for answers/frandf gaw # Fre wr 927 £

[Option ID = 2400]

Carrect Answer ;-
» The teacher tells and students listen/sT=aTas Fierar g are =l g0 &

[Option ID = 2397]

3) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,” into "receptacles” to be "filled" by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking” concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits, They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store. But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this {(at best) misguided system. For apart from inquiry,

apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
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never discover that they educate the teacher.
faufafas raia #7 97 FT T 7T 7 FTIOCE,

WeaT (Forad srearaw srearar grare) & frardi srerrRm Rrvrargsraifrsrd ares@a g ma Oigdaraagd frag
frardi=Tus or a7 9% § a7, Bl srsamas wxar wgarg. FrE s F T oAt guiar & s agwE Fr AT g, agIa A
g=g1 ffasTgrat 8. RraarRmagd s sridga ey fT R o1 ® e wsga FLaT8, agsaargt ssgr faardigars.

THTHEIANATUF A w1d aAATd 18 s AT A e i s IS AsT<F eI . AATTT HATTFEA F I TNE ATHFILH
faafrat ard s @ dern sare 59 frardf ddgdw agosheenrrsoard dreggorargare. o8 Rrara <SR g
T o oo ggs@ Siiasa R saf Erdi g (S ag deRami TSI Igu s, FE F 1398 M ATSH FAFIE . A
t Prga® vra wehaaradt sraugs aaargdwrcagaa sTaaagrars. g ataRgand, gaizrgfa g (s gataa
TOH)H AR GIATAFAL, ST AU MTATT R ANTT R ATSAR A T FTErgTieascdarns. soifsagaamdrasaga fga=f
Y HATH ATATTET ETARAT. FIAA FeA T A TYH: TR T TATHLSTZTANTTASNT R, ATA-AAT ATCH TR D 79 I3 77 979
HTHA, AL, FITATAHATITT AT R ATSIAR I ATTIILAETATE.

fararfy SRR ggreaTd T SrAarA AR F At gro s e Rram srarew gagre s Ked  aardraaa €.
TEU BT LU AATATATAAT, I IATH RAEARIFTA0R, UF AQAATANFA S ©TH farwdcara s e aqarars. asamv=
frarfiat # arad =g S ISaRT A TH ATAATATATFIATITFLATE; I7g LU O: AATAT ATAFLATHTA 799 & sAfdmea wrsfifaca g
FLATE, TATHRTEIATIHIVTHT # 7 arfrardi usfagaaraFT oty asaros $ siftgea sralfrsa fag s gravfigam=arsr
HIFTTHFTAT §- g, ST 3 fArla, € agsdivaragigaomare (3 asmmas w1 irsw g €.

Knowledge has to emerge mainly through :
1T HTIFT L&Ia: fFa=s aregw & grar =arfgw?

[Question ID = 601][Question Description = §2_qSNz_PG_EDU_Q58]
1. Listening to teachers/a&ATTS] FT HAAT

[Option ID = 2401]
2. Reading the books/T&% 24T
[Option ID = 2402]
3. Memorizing the content/faw=-a%g F¥ 718 FeAT

[Option 1D = 2403]
4, Reflection and action/=a= =T =14

[Opticn 1D = 2404]
Correct Answer :-
& Listening to teachers/3aTa=h{ & AT
[Option 1D = 2401]

4) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,” into “receptacles” to be "filled" by the teacher, The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking” concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits. They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store, But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this {(at best) misguided system. For apart from inquiry,
apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideclogy)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence, The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher.

fratsiyg meia sr g s fRrar ygy srIac d.

Aeq T (Brad sreaTow srearargrare) & frardi sreaRm Rrr g sratBrstd aresad s . ma Argdiaraag e feag
frardt=r o ar T dEg®E A g RATE, R wregrow wrar gard. L aerisr Rradr goiar @ sgdgE R wedr e, agsadtrdt
F=a1 fafasTErat . PramTRAagE s sr{dgasd ST I 3 RrewsgasarE, agsaarissaraardigrars.

TETFH AT U w1 aaa7d1 & forad frardf aertsg dicasaras d T €14 §. Ao EhgwFa Fr g arfasries
et ST FaT st AeewrwaTe R frardt b agor e sare dregerargars. ag i« & sraaroon
t Forad rardigro s AT iaea Be saft Srdr g R ag Weear T sTugu w3, Tad 13 AL ASH F AT FI@, T899
t PR vra wetRaamadtsraamgs aaargdwrcga sTagagrars. g ataRgand, gaixrgfHia g (sr= gataw
FOH) H TRFIFTATHFAT, SO TR TTTAR AT R ATSTAR ey Frvaerirasceare. sifsaqagra @rcasara g iRa=is
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g AR AITFTTEIETAFAT. BTG AT AT YT : FFA TN IATALSA TIRA N AT-TCA R, ATGA-HAT ATCH AL S Gra 563 9 a7at
ATEA, AT, TTTATMATITAAFATT R ATEAT R A ATAIGHTNATE.

forarr AT gt FTATEE FrAvA AT a9 WA grrIsTAFEA ®  Rara ararrsIrgR g B F yardtarad 8.
U I QU AATATATAAT, TIIATR T AU FTANE, UF ATGATANFH D A forgw ez arasrfasaaaraard. asqmos
FraTfiat # arad =g S ISaRT A TH AAAATATHFIATITFLATE; I7g QU O: AATAT ATAFLAT HTA 799 & sAfeaea wrafifaca g
FIATE. AT FT g wTar ¥ = M rardf esRAgeras wify gsarosd aRaawr@fer fags@ grardf aaraarsr
TFIIFCAT E- Feg, soras ada, s ggsdtvaragiaaamareg o3 asgrms srirgwsa §.

According to this passage, knowledge must be acquired through :
TH AATH B SATHIT 7T MALTF €T/ #8 o1f¥ra fopgr srrar iz

[Question ID = 602][Question Description = $2_qSNz_PG_EDU_Q59]
1. Transfer of content by knowledgeable to less knowledgeable /ST =1=F ST AT T FUT-a6 & SAqe0 § a7 H

[Option ID = 2405]
2. A process of inquiry about content/fEa-7eg & a1 ¥ UF s=oTT WEA B ATETH ¥

[Option 1D = 2406]
3. Mechanical memorization of the content/{Hu-aeg ®T FTRF &1 & U7 HiTA & AW T

[Option ID = 2407]
4. Receiving, memorizing, and storing content/=mgm, Fom i froy-awg erom # vy &

[Option ID = 2408]

Correct Answer ;-
» Transfer of content by knowledgeable to less knowledgeable /ST =a1=h FIAT ST & [HUT-T6] & ddC0 F 7127 q
[Option ID = 2405]

5) Read the paragraph given below and answer the question that follows

Narration (with the teacher as narrator) leads the students to memorize mechanically the narrated content. Worse yet, it
turns them into "containers,” into "receptacles” to be “filled"” by the teacher. The more completely she fills the receptacles,
the better a teacher she is. The more meekly the receptacles permit themselves to be filled, the better students they are.

Education thus becomes an act of depositing, in which the students are the depositories and the teacher is the depositor.
Instead of communicating, the teacher issues communiques and makes deposits which the students patiently receive,
memorize, and repeat. This is the "banking” concept of education, in which the scope of action allowed to the students
extends only as far as receiving, filing, and storing the deposits, They do, it is true, have the opportunity to become
collectors or cataloguers of the things they store, But in the last analysis, it is the people themselves who are filed away
through the lack of creativity, transformation, and knowledge in this (at best) misguided system. For apart from inquiry,

apart from the praxis, individuals cannot be truly human. Knowledge emerges only through invention and re-invention,
through the restless, impatient, continuing, hopeful inquiry human beings pursue in the world, with the world, and with
each other.

In the banking concept of education, knowledge is a gift bestowed by those who consider themselves knowledgeable upon
those whom they consider to know nothing. Projecting an absolute ignorance onto others, a characteristic of the ideology)of
oppression, negates education and knowledge as processes of inquiry. The teacher presents himself to his students as their
necessary opposite; by considering their ignorance absolute, he- justifies his own existence. The students, alienated like the
slave in the Hegelian dialectic, accept their ignorance as justifying the teachers existence—but, unlike the slave, they
never discover that they educate the teacher,

frafafég mia st vz sTiRT T AT 199 |

e (Frad sregros sreararerars) & Rsrdi sreaRe o asg s srd gresaa s . swd Wrgdaraag e fras
frardftr o ar g Aag®E A AT, R wegrow wrar @ard. S werrisrRradr goiar @ sgdgE Ry wedr e, agsadtrdt
=gl ffasTgiat . e RAagd s srdidgawyd sT A o1+ & g wsgas<ard, agsaardrssariaardigrars.

FETFHI AT us sesw w1 gaard1 € forad frardf Wertgdicasaras desTw €149 §. asqrors EhgwFa Fr g arfasrics
i ST s e drc s stars B Tardf ddgdragwdremrnsard dhoggsmartgars. g trar ) <& stagToo
2 forad RrardferosgsR ST Rrd el a2 Frag derramifr ST ogua s, wad £ 398 a8 Ao F33@, Tg 9y
T rems rraweshaamdtsrames aaargdaeaad sTagagrars. g e Py &, gafEvatg yore (srow qataw
w0 H) § A PREgIITeaFan, ST HTTIAR AATT R ATETA A eg Fr P Ao ar. sNifrag@gasicaena g tiga=afs
g A9TH AT gV AFA. FAFT TANM AT T T IITATSA ZTUA N -G H, M- Fara AT gFgae  arafrgy ot ama
TR, AT, AT AT HAATATT S AT R AIETAE EIATASIHAZIATE.

frarar ¥ Ao § Frasg srardr A s "ieatgrasayatwat s Ryram sraressTgr e B & gardiamd €.
A FT QO AT ATHAT, ATEATH TRAIIHTAFTINE, TFATALTTIRT R ETH frarw s araFr freaaaraard. asqr0s
Framfaai: ar9d =g FTITFT AT S I AT A TATF AT TLATE; Ivg QA O AATATATTFIAT AN 09 » ARRqeasraffaca fag
FIATE. AT FTETareFTwToT ¥ =g A rardf exRgearas wify gsaros S aRaawrd@fer fag @ grardf aaraarsr
THIFILFTAT §- Feeg, ST e s faadq, s ggwdtuaradiwaararg M srsqras s frgwsa §.

The main criticism of the banking system of education is :

farery 2 ST gorst o e snFrAATE -
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[Question ID = 603][Question Description = 52_qSNz_PG_EDU_Q60]
1. Emphasis on memorization /9 9% 757

[Option ID = 2409]
2. Process of knowledge transfer /= S<0 TFA

[Option ID = 2410]
3. Not developing individuals as human beings/=I=Fa1 7 7= % ¥4 ¥ Ta=a 7¢f &7

[Option ID = 2411]
4. Treating students as slaves/FEenf¥=i ¥ s &t a3z =@z &7

[Option ID = 2412]

Correct Answer ;-
- Emphasif- on memarization /83 9T T+
[Option ID = 2409]

Topic:- Education_SHZ_SHAAN_NOV21C

1) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a
reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit. The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat, The third is the flexibility given in board exams, Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before.
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able, The intent is to breach gaps that have been untended for too long. There is so
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right.

fratsaiyg g sr g sy Tr yy FrI9e E.

T 9T ® o1 srye aRadal sTveard g 7 939 10T mer awar 1 G609 g @ aearasa® g9 TgEnwm 9g_r,
ferafaaaat & 07 =1 519 e qgm: v3a § g7 a9t afatiraar # ar9 9 - afFT g s sofy & sfa s
®T w0 AT grar arige Frafemast & 23 # douw 7@ N g9a97 R 919, 98 FTAT 1 ITET 9987 A= STLHAT GIora
TGt TaqAAT aAT © Z94, HAEF foaTaa’| ey forer 2q g-FRwaswea § g {5 1 fawg v g7 a4 &, 9t vy
THTA g, ST ATt 7 AT Fr AW FTRATUITE wF AL 4rAA F GrAT Y UF 9A19F B AMLATLAT FrF F£A

FT TATT ITHT ATAT TAATLATT FTAFA F Mg gw sarg dqy, 9 9dar # fRarrar s § afus Breey, d@e
"I & fag afas gymaard IgFIT 17T IFIL AIATASGHE TTT F4 A GEILTIATE AT a5 47 7 harwgr a7
gAY A arard AR Fr areHRFar R AT AT A g A urn fygasreorfRarg stasgAF ETrogad v/ ot
fradt €, 9 T o= st 2 919 |9 Trarmaat + o Bras g g, st 1 o s $ too iy st
ferafaeray arsasw gaarafir 3T cgdTaT VAT TAT AT FITAT I FATRT B 717 wsqr97 FT A0 gr eI qey wrAf A 7
AATATSIT , TF AT 409 ¢ AT YHT T 9=t 19 § I°7 A ATHAT FT L ITIALIAT  ACHATT & I FIEAL HT qTA7T ™77
qL A FATH sFTA AL FRIr 1778 qgf Fgn s a g aga 2, AT e S T IZT T MTAZTIILA g e -
TLRE WA F TATH 1 &A1 /1 041 gy A1igy gATdt ag 2 e 59 Siw 9 parsg

Which of the following is not under radical changes?

frafafyg & & =t 91 sr@ TixgdAT @ Sadaagi € ?

[Question ID = 604][Question Description = $2_qSNz_PG_EDU_Q66]
1. Exit and re-entry of students/Erat =1 Fera & 77 73w

[Option ID = 2413]
2. Multidisciplinarity /Sg = a=es

[Option ID = 2414]
3. Incentivizing teachers/fdrsrt F1 TreemeT 347

[Option ID = 2415]
4. Flexibility/s==ma"

[Option ID = 2416]

Correct Answer :-

e Exit and re-entry of students/Zra1 F7 e s T waer
[Option ID = 2413]

2) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a
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reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit, The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before,
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is s0
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right.

fratsiyg g Fr g sy rr yr FrIocE.

T 9t ® o7 sy aRadat sTveard @ 97 939 10T mry auar 1 G609 g 4 aearasa® g9 g9 9g_r,
Frafemat ® gt sTAsE A gm @a ¢ gradt aRfSraard arg fiq §- v g Fdr sreudrsofy g s sa
FTFL0 7 Frar Irifze Fegfrarast § 2 # S0 533 5 9uar® a9, T A7 F1 I 799 s STLHAT DI9R
FT AT TagAAT AT © FAU, HAEG foaTaa’ ey forer 8q gg-fRwgswea § ara {5 1 fawg v g7 a9 &, adt vy
TATAE, AT ATITS AT AT FT AT FFRATAITE g ALV ATIT & AT A1 OF q479F 3 AR ATAAL F7H FH

FT TTTT IAFHT 7T wfawrgaT FIHFE # Hrgwsarg dfaw, 9 odar § RarvaradimmT § afyw ey, d@e
I 7 % oo Ay s g9m=ad I FTAT 1T IFIT ATAT G TTH F34 A FERTIATE A 989 47 7 {Haragr a7
TAEdt & argrew Afyvw F areFiiFar ST AT arrrar Y s R uw g FrEr RArg sfawASF oA € O A 7
frradt €, 39 f seg et & a9 |ra Ramaat § fao trgs virgo g gq, artastst s fféa s 3 fao =y st
ferafaerraa orsamw gagTafY g saaTar AT STAT AT FIAT TG FATRT ST AT AAITFTFEA graAcIF g w1l A 7
AATAT AT , TF =&t 19 ¢ T TET 21 =& 17 & orew a7y ATFHAT ST AqT 9T ST a7 ATH9rT @ 99 |rgat =7 warn e
T AR FATH sFTA AL FRIr 1778 i Fgn Mg a fraga g, AT e S T IZT FAAMTAZTINA g e -
TR WO 779 1 7T F1 A0 Frige F1fye gatdt ag 2 e o8 Siw a HFarae

Which of the following is a wrong statement?

faafafaa o @ v FTFI7 AT 7

[Question ID = 605][Question Description = 52_qSNz_PG_EDU_Q67]
1. Credit transfer will give freedom to the students/aTe si==m & =T Fr wrea=rar fAEmfr

[Option ID = 2417]
2. Students can choose any subject within a discipline /= &t ot T 1 v @99 § F 47 954 &

[Option ID = 2418]
3, Disciplinary boundaries will be broken/ a3 Hramd ®aTe 27 FAT0T

[Option ID = 241%]
4. Foundational literacy is an utmost urgency/¥TETEdT AIEILal Fdd AATF %

[Option 1D = 2420]

Correct Answer :-
e Credit transfer will give freedom to the students/®T& sfgTur ¥ STl i T<=ran MH=riT
[Option ID = 2417]

3) Read the paragraph below and answer the question that follows

NEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student
potential. The first is the exit and re-entry of students in universities. We all live with uncertainty- but this should not be a
reason to lose out on one’s degree. Combined with the ability to transfer credits across universities, this gives true freedom
to students to find their best fit. The second is multi-disciplinarity, across schools and higher education. Students can choose
any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice,
more chances to get it right. This is to support students to be their best selves in a way that had not been enabled before.
NEP has also recognised the urgency of foundational learning and upgraded it to a mission. There are many other things that
NEP gets right, such as focus on teacher training for schools, the fund for educating girls, and the freedom for university
course length, among others. Creating a framework for teachers to only teach and not co-opted for other duties is good, as
is the emphasis on supporting the less able. The intent is to breach gaps that have been untended for too long. There is so
much to be said and done here, and it is already too little too late - but every effort mut be appreciated. The challenge is
to get it right,

ferefwfég g st g sTiRT T O 199 .

T T It & 17 s e afeadat s1veama & 97 99 g gra gaar 1 g6 g & scurasgs Ugw w9 98T,
ferafaerast & grat w1 w19 sk g w30 8 g9 a9t afafrgar £ arg i3 €- ST g fedt 71 a4t sTrfer & g s
FTFROA TE AT AT frafaaai & *fRT 2 Ao =" T auars a9, T ITATF1 IR F94 A=t STLHAT oA
FT gt TagAar aar € g, g9Eq faaragi sy farear 3q ag-fRwgswea § ara f5dT o fagg v 97 959 &, gt fawy
HTT B, AT ATTIR Bt ATHTINT FT AT SIRATAITE gZ ASTATAA & QAT ©1 TF AATAD F AR ATLHATS HTH FH

FT TATTT ITAT ATAT ATAATTAR FTAFA 7 AT gw FLarg gy, 18 odar & frgrraradtargT § afus sy, dc
Tt 77 # FOro afXrs dargard I8 1A ET T IFIT ATAT FIHE WA £ § G AT A7 02 F997 7T Prgr var a7
TTLYT = ATATTLT ATHTH FT AEHHAFTATFT AT AT N M@ us fraasrsofarg stam g S arga s i # adf



www.prepp.in .repp

Your Personal Exams Guide

fradt &, 49 5 ey 9T & Fr9 91w Faragy F ¥ Bras siragw g aw , ari@wra w7 @fag 593 2 Ao iafr st
Fraframes ossy aRara iy 3 Saaar T FTAT ST HIAT TG fAAFT FTATA AATITFTFE I MTIvg A FIACH 7
ANTAT AT, TF =&t 1T 2 o THT t or=8) ar7 ¢ srew gy AFFAT fr v vz S aar iy & 39 argi £ gwar e
XA AT 477 At RAT 1A ] AT A M FA B Pryagaga, Mg R d SragaFw Az qgInA g -
qTrg e F T4TH 1 Wi q7 #F qrAT gy Iifgg gatdrag d e o8 s 8 rarsng

Multi-disciplinarity will be ensured-

gg-Fewawey w1 giataa fear sroar-

[Question ID = 606][Question Description = $2_qSNz_PG_EDU_Q68]
1. Across school education level/aaer =t fErar =< 0

[Option ID = 2421]
2. Across higher education level/a7e7 37 forar &1 1¢

[Option ID = 2422]
3. Across technical education level/ame 5T fEem = a7

[Option ID = 2423]
4. Irrespective of Levels of Education/TEr=TT % FT 5T £0T9 1@ =i

[Option ID = 2424]
Correct Answer :-
e Across school education level/awsy et firgr =7 72

[Option ID = 2421]

4) Read the paragraph below and answer the question that follows

HEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student potential, The first is the exit and re-
entry of students in universities. We all live with uncertainty- but this should not be a reason to lose cut on one’s degree. Combined with the ability to
transfer credits across universities, this gives true freedom to students te find their best fit. The second is multi-disciplinarity, across schools and higher
education. Students can choose any subjects, all subjects are equal, and the concept of streams has been diskanded. This truly frees up students to work to
their talents rather than to an administrator’s diktat. The third is the flexibility given in board exams. Again, more choice, more chances to get it right.
This is to support students to be their best selves in a way that had not been enabled hefore, NEP has also recognised the urgency of foundational learning
and upgraded it to a mission. There are many other things that NEP gets right, such as focus on teacher training for schools, the fund for educating girls,
and the freadem for university course length, among othars, Creating a framewaork for teachers te only teach and not co-opted for other duties is good, as
is the emphasis on suppeorting the less able. The intent is to breach gaps that have been untended for too long. There is se much ta be said and done here,
and it is already too little too late - but every effert mut be appreciated. The challenge is to get it right.

frafafT i srrz s T ar g sTIO< E,

o £ 97 § 9t arge qfeadaT sTweara & o i g ey g9qr #1607 g% & gemaers gy g gg54r, Frafaraey F srat st e o
ga: v g gHAH AT & ara A4 - dfH7 7 Bt fr 3adt 9urfa & 9@ w3 sTeon Tt grararfge fafaamat § 3k 3 Faor e 511
AAATH WY, TFETHT 1 ITHN ATE ST IULHAT 1907 31 Gt wag gy 2ard ga<y, awveq Raraqt sz sy frar g ag-forew d gry Prat wt
farr FY g7 a5 €, a9t e aara &, s arorst 1 gagror ST ATy FTfEaTaatd gt maa F SrEl ST UF varHT § g argars w1 w7

AT AT IAHI AIAT VOATLAR FTA A & (g g s gz, 9 9@t # Rammaradtames ¢ afys Feew, stxadi s & g atas
FATAATE AEFTHTFTEATFIT ATAT AGCRE TN FI9 § FEILTEATE 9 727 FH AT Opar wyr av vaddt 7 aravespa afw 1 aremrosar 7 97
grgaTdig @ us i srsrfaard s o e € ST ua s 91T/ 9t faedt €, 39 Py avg <tat & 917 a1y fSemagt & fao ras sfigw gz g9
, ATTerwTaA Y Farfara w32 # T T 3 e Rrgrey wreasw waarafy 3 sadaar dar avay dar a1 w51 fwawi 51 A17 Feqroa sro0d grsfes
AT FIAT A T AMITATL, TF AT 1T 2 Az vt € ar=aft a9 v aguwatrn FTazzoraredar afrog d sasrsnisrawr s oraa 999
Fegaadifaar ard sei sgd rsd f o agoged, g red d draga s st aga e gan - T T AT T TAHT &1 AT41 ATfRQ
=rfey AT 752 PFr @ 21w R/ fraremg

Which of the following statements is not wrong?

fafafa s F Sivarsaraagadia ?

[Question ID = 607][Question Description = §2_qSNz_PG_EDU_Q69]
1. Greater possibility for relief from the tunnel vision of restricted student potential /STa=TarT w5 etwar 1 gl 3T ¥ ga % =y fd=s game=

[Option ID = 2425]
2. Restricted possibility for relief from the tunnel vision of restricted student potential/siaafa g srrar it Ffet 5fe & wgw # Fro wiEfim darr

[Option ID = 2426]
3. Choice-based possibility for relief from the tunnel vision of restricted student potential/wfe=Tae & awer Ft Gt 5% ¥ vga & o fweT annfia
HATEAT

[Option 1D = 2427]
4, Mo possibility for relief from the tunnel vision of restricted student potential/JTa=ITaa Fr Twar T @£ 3TF ¥ 72T % oy F1E A9r=AT 927 2 |

[Option ID = 2428]
Correct Answer :-
& Greater possibility for relief from the tunnel vision of restricted student potential/widfEe @ wrwar &t @il 5t & g % Fro wfis gumEm

[Option ID = 2425]

9) Read the paragraph below and answer the question that follows
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MEP leads with three radical changes that will bring much-needed relief from the tunnel vision of restricted student potential. The first is the exit and re-
entry of students in universities. We all live with uncertainty- but this should not be a reason to lose cut on one’s degree. Combined with the ability to
transfer credits across universities, this gives true freedom to students to find their kest fit. The second is multi-disciplinarity, across schools and higher
education. Students can choose any subjects, all subjects are equal, and the concept of streams has been disbanded. This truly frees up students to work to
their talents rather than to an administrator's diktat, The third is the flexibility given in board exams. Again, more choice, more chances to get it right,
This is to support students to be their best selves in a way that had not been enabled before. NEP has also recognised the urgency of foundational learning
and upgraded it to a mission. There are many other things that NEP gets right, such as focus on teacher training for schools, the fund for educating girls,
and the freedom for university course length, among others. Creating a framework for teachers to only teach and net co-apted for other duties is good, as
is the emphasis on supporting the less able. The intent s to breach gaps that have been untended for too long. There s so much to be said and done here,

and it is already toe little too late - but every effort mut be appreciated. The challenge is to get it right,
frafafer raia ST g s aeggsraacd,

ud 91 F i apypw wfeadat s oeara € A0 ofvd T g gaaar F1 d60F gt & stearaeas vgy vgrunr agarn, frafaaraat F grat s era st
T v A E gHaHr wfaTar £ arg T - a7 77 Bt w1 sadt o 9 90T s sTEow Al grararfse ReEaeat F e 8 Faor s«
FATTR AT, AT FTATH T ITHI I8 AT ITLHAT 197 7 gYt sagdAqr a8 oy, aneq Faragt h sy Prarfg apfrorwsa g gy fsat «t
fawg ®Y g awd &, a9t fawg wara &, shoarors #1 sgaror &1 a7 T aTd agadtawa § |10 $71 0F TO79F & AL argans w14 w24

FT TATY ITHT ATAT 7AW aT FIHFH & HrgEswre 99y, 31 9fhar & frgraar asiergT 2 afys s, drcadi v 2 o afys
HaraATe TEFTHTFTSHTRTT ATATHATCHE WIX T W FIIATIATE AF 78R F97 77 Opwr var gv vaddt F sparospy afysw Frarswrfasarsrat
AT ET 2 she @ o o srer T d saa W & T uv § 9V § ot fyaet &, &a Py e ftwt £ 919 919 fFremeat & g freas asfrew gz aw
, FITFFTe w1 foferg s % fow tafy &< Tratoaray vrmsw awarafy gg sadaar garaisr dar soar szl gt Framm ssargasrad grare s~
A HTEIH T ANATATE, UF Ao qTa ¢ M TUHT T A~ a0 ¢ sewama AGFET Fr v ax A dsw  afimg & sTargat &1 9@ o v o 999
] e AT frarorar e gul w4 Aewed 2 fouagagad, dAcagoga & fragrsafoage 2| g € - o<eg T2 % WA F7 w097 1 741 Aiygw
Fifgr gttt agd Przd i d frarare

Which of the following statements is not incorrect?
e d a st arsaaaggadig ?

[Question ID = 608][Question Description = 52_qSNz_PG_EDU_Q70]
1. Credit transfer will be done within Central Universities/za Rrafa=neg] & siaviq #i2< sfaeor omam s |

[Option ID = 2429]
2. Credit transfer will be done within State Universities/#f2= siaeor wrea feregfeemeat & st far s |

[Option 1D = 2430]
3, Credit transfer will be done within Central & State Universities/® 2 siaww 359 i 7oy FRratE=meat & sfasta 3 [mo )

[Option ID = 2431]
4. Credit transfer will be done within Universities & HEls/#eT sfavor Feafasmet 4t vs § o % srasta B smoo |

[Option ID = 2432]

Correct Answer :-
a Credit transfer will be done within Central Universities/®&a FreafE=m=a] % aiig mize g =har s |

[Option ID = 2429]

Topic:- GP_Set8_A

1) The table below presents the unit slaes of the ‘ZZ999 Motorcyle in six European Countries
over a s1xX month period from January — 2020 to June 2020. These motorcyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 21 29 31
Italy 02 24 24 26 25 23
Total

What percentage (%) of the overall total was sold to the German importer?
(1) 22.0% (2 256.4%
3) 25.8% 4 24.6%

Freafotga @t St 2020 @ S 2020 7% $i 92 A% fi @i § o7 TNE oA g ZZ999" TR
AR i TR BB (I W) Wi ot 2 | F AieEsthel et Ten T (SeR) % 5 gorw o
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mﬁa%wﬁ%lwﬁ-ﬁwaﬁé% FTH 9 9% =l IT G0

Z9-am ArZRETErRen 1 fSEhl

& Sl | Bttt | o | o | mE | o | 3
ST | 34 | 47 | 45| 54 |56 |60
I% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
dfeasm | 14 | 14 |14 | 16 [ 17|14
w | 20 | 29 [ 28 31 |29(31
et | 22 | 24 | 24| 26 [25]28

T SAATARAl =l S TS ATETS Rl o el Wiwa 7 E ¢

1) 22.0% (2) 2b.4%
3) 25.8% (4 24.6%

[Question ID = 2639][Question Description = Q1_GP_SET8_51_Shift2]
1. 1 [Option ID = 10553]

2. 2 [Option ID = 10554]

3. 3 [Option ID = 10555]

4, 4 [Option ID = 10556]

Correct Answer :-

e« 1 [Option ID = 10553]

2) The table below presents the unit slaes of the ‘ZZ999 Motoreyle in six European Countries
over a s1x month period from January — 2020 to June 2020. These motorcycles are imported

into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Marvch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the overall total of motorcycles was sold in May?
(1) 24.1% (2) 25.6%
3) 27.1% 4 17.8%

Freafoga @t S 2020 @ S 2020 7% Fi 97 A% fi @i § o7 TNE o g ZZ999" iR
aEhee il THs e (g Aw) w guid 21 3 et R gen fesa (Ser) % g v 3w |
Al =h1 S 81 gl § wega SRS % STYR 9 93 R SOt G

Z91-am HrZaETerHen 1 Sl

& Sl | Bttt | o | e | mE | o | B
ST | 34 | 47 | 45| 54 |56 60
J% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
afesem | 14 | 14 [ 141 16 [17114
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e 29 | 29 | 28| 81 | 2931

W e W S TS T A A NiowE wm e
a  241% @) 25.6%
(3) 27.1% 4 17.8%

[Question ID = 2640][Question Description = Q2_GP_SET8_51_5hift2]
1. 1 [Optien ID = 10557]
2. 2 [Option ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560

Correct Answer -
e 1 [Option ID = 10557]

3) The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a s1xX month period from January — 2020 to June 2020. These motoreyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motoreyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 1 i 14
Spain 29 29 28 21 29 31
Italy 28 24 24 26 25 23
Total

Which month showed the biggest increase in total sales from the previous month?
(1)  February (2) March
(3  April (49 May

Freafotga @l S 2020 @ S 2020 7% $i 92 A% fi @i § o7 TOE o g ZZ999" TR
Etra #i vew e (g o) =1 oot 21 3 Oewmtee B gen foea (3R) % i o 3w
ST =1 wret 21 qrofi § Yeqd 31iHs) o SIT9R W 99 1 3at g

Z91-aT ArZAETErRen 1 TSl

& Sel | watt | o | ot | mE | | 3
ST | 34 | 47 | 45| 54 |56 [ 60
I% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
Afesmm | 14 | 14 | 14| 16 |17 14
W | 20 | 29 (28 31 |29(31
zeet | 22 | 24 | 24| 26 | 25|28

g ws A fohi firett 7 7 foeht i gomn 3 waifes g =it 27
(1) &l ) W
(3 oma @ =

[Question ID = 2641][Question Description = Q3_GP_SET8_S1_5Shift2]
| 1. 1 [Option ID = 10561]
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| 2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]
Correct Answer :-

& 1 [Option ID = 10561]
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4) The table below presents the unit slaes of the ‘ZZ999 Motorcyle in six European Countries
over a 81X month period from January — 2020 to June 2020, These motorcyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motoreyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 21 29 31
Italy AL 24 24 26 25 23
Total

In the month of February, what percentage (%) of the monthly total was sold to the biggest

importer?
(1) 24.71%
B)  365%

Frefafaa @l s 2020 o 59

(2)
€

23.1%
51.1%

STl =1 S 81 gl § W SRS % SIYR 9 9% R SOt G

Z91-am HiZAETEiHen 1 S

& Sl | Bt | o | e | mE | o | B
St | 34 | 47 | 45| 54 |56 60
I% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
dfesm | 14 | 14 | 14| 16 | 17|14
W | 20 | 29 28 31 |29(31
oot | 22 | 24 | 24| 26 [25]28
P
HEd] ATE W GO o SETGhAl Bl el AL Aedthal = fhaar sfawa s e
1 24.7% @) 23.1%
(8) 386.5% (4) 51.1%

[Question ID = 2642][Question Description = Q4_GP_SET8_51_Shift2]

1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566
3. 3 [Option ID = 10567
4. 4 [Option ID = 10568]

Correct Answer ;-

e 1 [Option ID = 10565]

3) The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a 81X month period from January — 2020 to June 2020, These motoreyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motoreyles

2020 7% HI Tz Wg H @Y T Tz FHE < gR ZZI9Y" HiR
aEhee il T e (g Aw) w guid 21 3 Aot B gen e (Ser) % g vee 3 |

| I PR P | Tmaman mawes [ [ P ] AT A anals ] A smnan I LY PR | Taawn | Madal ]
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e I B P 2 P e e el e Pt
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the total imports 1s accounted for by the three smallest importers?
(2)
(4)

(1) 37.1%
3) 40.0%

Frefafaa @l s 2020 o 59

14.8%
35.2%

Al =h1 S 81 gl § wega SRS % STYR 9 93 R SOt G

Z91-am HrZaETerHen 1 Sl

& Sl | Bttt | o | e | mE | o | B
ST | 34 | 47 | 45| 54 |56 60
I% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
afewmm | 14 | 14 |14 | 16 | 17|14
T 20 | 29 (28] 31 (2931
et | 22 | 24 | 24| 26 [25]28
P

A1 T BT STATARAISA] GO el SR 1 (ShaeT Sfaerd ST e T R 7
14.8%
35.2%

(1) 37.1%
3) 40.0%

(2)
@

[Question ID = 2643][Question Description = Q5_GP_SET8_51_Shift2]

1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]
Correct Answer ;-

& 1 [Option ID = 10569]

2020 7% HI Tz Wg = @ ¥ Tz A < FR ZZ99Y" HiR
aEhee il THs e (g Aw) w guid 21 3 et R gen fesa (Ser) % g v 3w |
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Topic:- GP_Set8_B

1)

point-scale to determine the quality of the performance of a student?
(2) Rubrics
(4) Deduction

o ferneft % e Fuim + fom amerei A oo o g 71 Fuw = o0 9 27

1 Diffusion
(3) Track system

(1 oo
(%)  w-Torem

(2
(4)

iy
A

[Question ID = 2684][Question Description = Q06_GP_Set8_S1_5Shift2]

1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]
4, 4 [Option ID = 10736]

Correct Answer ;-
e 1 [Option ID = 10733]

What 1s the name for the type of checklist or rating scale that expresses criteria on some
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2)

(D
&)

What is the name of the mental process that assists learners to reflect on their thinking by
mternalizing, understanding, and recalling the contact to be learned?

(1) Meta cognition (2) Rubrics
(3) Peer tutoring (4) Debnefing

34 oAt gfRar 1 AW R 2 S IeEdieRn, Tevuia, afimfia fi o arell - % v &
210 Fransft =t s o fame = wEre w2 7

ATEET (2) T

TG ST (4) T FFEHRT ST

[Question ID = 2685][Question Description = Q07_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10737]
2. 2 [Option ID = 10738]
3. 3 [Option ID = 10739
]

4. 4 [Option ID = 10740

Correct Answer :-

» 1 [Option ID = 10737]

Gaven below are two statements :

Statement I: In free version of google meet (through your personal Gmail / Google account)

you can record your session / class.

Statement IT: To join an online class / session conducted via Google Meet you need to login

In

1)
(2)
(3)
4)

to your Google account.

the light of the above statements, choose the correct answer from the options given below:

Both Statement I and Statement 11 are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II is incorrect

Statement I 1s incorrect but Statement II is correct

fi= 51 %A g o §

w2 ([): T di2 % B oo 8 (T SIfdaTa St Het /e TRSE G 39 STOHT wE fee

Ohd 2 |

oA (1) : TP HiE g Haiford UF STHeTE e /8 & S9FA Fe % [0 ST 319 TP THise |

M- o i %5 ugat 2 |

I U A 5, A 5 T Trredi § 9 Ued IUE ST A T I

(1)
(2)
(3)
(4)

oA 1 ol I = 2 )
w9 1 3 11 51 o 2 |
FeH I TE 3, AT w9 11 7Tem 2 |
FY7  Terd 8, ST Bua I 98 2|

[Question ID = 2686][Question Description = Q08_GP_Set8_S51_Shift2]
1. 1 [Optien ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744]

Correct Answer ;-
e 1 [Option ID = 10741]

Which of these decision traps pertain to personal qualities?

(A) Frame blindness

(B)

Overconfidence

prepp
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(C) Taking shortcuts
(D) Being unsystematic

(E) Not keeping records

Choose the correct answer from the options given below :

1 (@A), B), (C) only 2 (B, (C), (D) only

) (A (C). (D) only @ (0. (D). (E) only
fyetferfiae § & i Fotr-ara dafFes ot @ et 37

@ -

®  wf-foyam

(C)  Ffira mrTiE

D) FA=afEE g

(B) T 48w
= fiu 7o fomedt § ° T8 SO % = Fife
(L) & (A), B). (O) 2 Fa9 (B), (C), (D)

®  F= (A, (C), (D) @ = (0), (D), (E)

[Question ID = 2687][Question Description = Q09_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10745]
2. 2 [Option ID = 10746]
3. 3 [Option ID = 10747]
4, 4 [Option ID = 10748]

Correct Answer ;-
L e [Option ID = 10745]

Match List I with List IT

ListI List II
(A) Proprietary LMS O MOODLE
(B) Open source LMS (II) Google classroom
(C) Cloud based LMS (III} Black board
(D) Data collection and quiz (IV) Google form

Choose the correct answer from the options given below :

1 @-av), B-a), (O-@). O)-AD
2 @A-ID. (B)-AV), (O)-d1D), (D)-(D)
3  A-O, B)-dI), (C)-aAV), (D)-III)
49 @I, B)-O, (O)-IDh. O)-AV)

T=Ai-1 % T ge-T1 =1 fierm $ifsr -

—0 T 3 1T
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— —
A) T UE. AL, @ wEaNINEHTES. (T59)
(B) oA Hid TE.UA.E. @) T FAEES

(C) 73 9te UA.TH. T, D) =i =15

(D) T FFoA AR Fawt AV) T FH

4= &2 U el © © @t s W == i

1 @-IV). B)-II), (O)-O. (D)-AD
@  @-ID. B)-AV), (O-AID. O)-D
(3) @D, B-AD, (C)-aV). (D)-11D
(49 (A, B)-). (O)-1D), (D)-AV)

[Question ID = 2688][Question Description = Q10_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752)

Carrect Answer ;-
* 1 [Option ID = 10749]

%) Scientific research has the ultimate goal of explaining any phenomenon by
(1) Conditional laws (2) Laws of uniqueness
(3) Laws of intuition (4) Laws of generahisation

St o & arg Tt aftee % wron san = s we, Peess oo @ B 27

(1) T e (2) Afgdtzar = Ay
(3) = W W (4) == =

[Question ID = 2689][Question Description = Q11_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

Carrect Answer ;-
& 1 [Option ID = 10753]

7)  Which of the following are true case studies?
{(A) Easv to generalize the findings
(B) Normally Selects one case for analysis at a time
(Cy  Highly quantitative in character
(D) Integrates different perspectives
(E}  Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B). (C). (D) only

3)  (B). (D), (E) only 4 (). (D). (E) only

Fefalas 0§ S TSo-3Ts9aA S R H g 2 7

(A Tl @1 Qe ST 2
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B)
©)
®)

(E)

TG U% T H U T 95 Tl g

Tergiaar o == ultwm = |

fafim afient =1 vafPa = 2

fafre 29 waTePe s1gadl Sur Fi iR w3 |

fr= f5u 7o fowem © W TE SO W o9 e

(1)

3

Fad (A). (B). (C) 2 Faa (B), (C). (D)

Faa (B), (D). (E) @) =a (C). (D). (E)

[Question ID = 2690][Question Description = Q12_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]
4. 4 [Option ID = 10760]

Carrect Answer ;-
* 1 [Option ID = 10757]

&)

(B)

©)

(D)

(E)

Identify the sequence of methodological steps in foeus group research :

Select a sample

Prepare the focus group material

Define the problem

Decide the number of groups needed

Prepare the mechanics of the study

Choose the correct answer firom the options given below :

0y

(3)

(A). (E). (D), (C). (B) 2 (©). &A), D). E). ®)

B). (C). (A), (D), (E) @ D). ). ©). B, E)

Hehf-gd TYg WY ¥ Fhg T 1 Y $ e W

A)

(B)

©)

(D)

(E)

wF ufae T |
THlga Fg IUEH dAR |
THET 1 gl = |

ST g T = ol

TS YOSl dT |
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g feu o fomreat § & O sOx # WA Hifw .

@D A, E). D) ©). B @ (0, 4). D). E). ®

3 B, (). A), D). E) @ @O @A), (), (D), (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_51_Shift2]
1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762)
3. 3 [Option ID = 10763]
4. 4 [Option ID = 10764]
Correct Answer ;-

* 1 [Option ID = 10761]

Given below are two statements :

Statement I: Social scientists belonging to the verstehen tradition do not accept the idea of

predicting human behavior in mechanistic terms.

Statement IT: It is asserted that the main aim of social science research i1s to promote

human understanding.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true

A= 2l woA o 2 -

FA (D) :  I%aee fifg A Trag A SNt T=an 19 3 9ME SHaER s F AR W S

T F 2
A (ID) : 2 Fryeagas a1 sran 2 6 qentes fAem Wiy Siea w9 oy =i diearesa @ 2 |
STIE FUA F A A, 9 BT T e § ¥ 96 sm w9 i
1) wF IR A ger £ |
2 % I3 I 318 2 |

(8) v IHcH 2, Al oA II s/er 2

(4 w0 I o B, Ao weE [T 2 |

[Question ID = 2692][Question Description = Q14_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]

| 3. 3 [Option ID = 10767]
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| 4. 4 [Option ID =

Carrect Answer :

10768]
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Your Personal Exams Guide

e 1 [Option ID = 10765]
10)  Match List T with List II
List I
Concept

(A) Isomorphism

(B) Trangulation

(C) Prinaple of Parsimony

(D) Parameter

List II
Description

(I)  Use of both qualitative and
quantitative methods

(I) Premise that the simplest method is
most prefereable

(IIT) A property of a population
(IV) Similarity of structure

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(ID). (C)-(11I), (D)-(IV)
(2) (A)-(ID), (B)-(I1I), (O)-(IV), (D)-(D)
(3 (A)III). B)-AV), (C)-D. D)-AD
€Y (A)-(IV), (B)-(D. (O)-0D). (D)-dID
ﬁ—l%mﬁ—ﬂmﬁﬁﬁ% :
-1
GHATAT
(A) GHTHTHA
B) FrysH

(C) Fuorat =i [Hgd

D) T

A= & o Reredt A © 98 39T W e i

@D  @A-O. B)-1AD, (C)-AID, D)-aV)
2  A-dn, B)-IID), (C)-aV), (D)-D
3  @-dID. B-AV), (O-D. O)-AD
@  @A)-IV), B)-O. (O)-1D. (D)-I1D)

[Question ID = 2693][Question Description = Q15_GP_Set8_S1_Shift2]

1. 1 [Option ID =
2. 2 [Option ID =
3. 3 [Option ID =
4, 4 [Option ID =

Carrect Answer :

& 1 [Option ID =

10769]
10770]
10771]
10772]

10769]

G-I
feremoy

(M  ToTess SR aforEreTs A aEkEt w1 wE
(D) oER T 5 wems ug gariies afa 2
(III) A& Hl o

@V) GEEAT 1 GEE

11)

(1) Feedback
(3) Decoding

In a classroom, transforming verbal and non-verbal signs back into messages 1s known as

(2) Encoding

(4) Reverse communication

T T I (deier) Tha 9o TMNE (AF-Feie) Tehal 1 Tew § FUIGWT Faew 3
(1) il (Frsd)

e =5

[

(3) TR (SITET)

(2) Tk (Fils)
(@) foada Ty (fed Fogtem)

[Question ID = 2694][Question Description = Q16_GP_Set8_S1_5Shift2]

1. 1 [Option ID =
2. 2 [OptionID =
3. 3 [OptionID =
4, 4 [Option ID =

Correct Answer

1 [Option ID =

10773]
10774]
10775]
10776]

10773]
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12 i S B
) Perspective taking in communication supports

(A) Behawvioural rigidity
(B) Openness

(C)  Sharing of information
(D) Trust

(E)  Secrecy
Choose the correct answer from the options given below :
(1) (A, (B), and (C) only (2) (B). (C), and (D) only
3  (C). (D), and (E) only 4 (A, (O), and (E) only
Ty 4§ wfcien wge Frteiaa @ & feodt warrar wwar 27
(A)  HEETIEE FEEE
®) g

(© = F aEed

3

(D) fayaw

(B) it

Hi= feu T fomei & & dt s W A fifEy

O = A), (B) I (C) @) == (B), (C) IR (D)
(3) == (C), (D) 2R (B) @ = (A), (C) IR (E)

[Question ID = 2695][Question Description = Q17_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]
3. 3 [Option ID = 10779]
4. 4 [Option ID = 10780]

Carrect Answer ;-
s 1 [Option ID = 10777]

13)
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  The positive feedback from the teacher 1s necessary to motivate students.
Reasons (R) : Continuous criticism of students is the best method to make them realize

positive outcomes in their pursuit of knowledge.

In the Light of the above statements, choose the answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
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Hi o1 ®eA fou 7w 2 TF HTUEE (Assertion A) F ¥4 H fT@d 2 a1 §E0 3% F (Reason R) %

w9 |

HATERH (A) forerst @ gprrens widafe (mifalea Fisd=) Fentd=n = sfinife +6 % fov s
LR

0T (R) - TenieFal = TFIaR STEEA S5 T #3981 § THRchs TH0E R TEgH W 5

(2) Both (A) and (R) are true but (R) i1s NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) 1s false but (R) 1s true

O SN )

Tatam i 2

ITIE FA A o, A 4 e fmwen 8 ¥ 98 s 9w i

(1)
(2)
(3)

(4)

(A) 3 (R) =F1 8T 2 211 (R). (A) 1 928 = 2|

(A) 3 (R) 2F1 T 2 At (R), (A) 1 U8t =ame 7281 2 |

(A) T 2 S (R) oT9F 2 |

(A) 370ca 2 A (R) 713 21

[Question ID = 2696][Question Description = Q18_GP_Set8_S1_Shift2]
1, 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]

Carrect Answer ;-
s 1 [Option ID = 10781]

14)  The sequence of the stages of communication process is :
(A) Level of acceptance
(B) Transmission of congnitive data
(Cy  Message reception
(D)  Understanding
(E}) Reaction
Choose the correct answer from the options given below :
1 A 3. ). D). (E 2) @®). (), D). (E), A)
3) (©), E), D). A), (B @) (B, (C). D). &), (E)
waiwor ufsEr F =won w5 agE A
&) e (TrEs) 1 =
B) TFAIHE (FifAfea) S 1 H
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©) T T (T )

D) =y (sweweT)

(E) HTARAT

g fau o fomreat § @ T w9t = = Fifsw

@O @), B. ©), D). (E

3 ©).E).D)A). >

[Question ID = 2697][Question Description = Q19_GP_Set8_51_Shift2]
1, 1 [Option ID = 10785]
2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787
4. 4 [Option ID = 10788]

Carrect Answer ;-
& 1 [Option ID = 10785]

@ (B, (0. D). E). &

@ B (©). D), A). (E)

Match List I wath List II
LastT Last 1T
Type of commumcation Characteristic feature
(A) Network communication (' Formal and Planned
(B) Mass communication (IT) Creates identity and umgue dynamics
(C) Publhc communication (IID) Inter — dependent relations
(D) Small group communication (IV) Anonymous audience
Choose the correct answer from the options given below :
(1) (A)-(ID). (B)-11D), (O-IV). (D)D)
(2) (A)-(IID). (B)-AV). (C)-@D). (D)-AD)
3  @-AV), B®-@), (O-AD, (D)-A1D)
(4) (A)-(D. B)-1D), (O)-dIn), (D)-OV)
g=hi-1 % @1 g=i-I1 7 e Hifo
-1 -1
(A) eEH FER (D TS qy7 ARG

(B) T HER (AE k)

(C) G GuR (Tieerh Fegfem)

(D) < Hg IR
il 183 1o feepeat W O U 3o ) = iy

(1)  &)-10), B)-(I), (C)-AV), D)-D
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2 A-aiD). B-IV). (O-0. (D)-aD
3  @)-Iv), B)-O, (O)-(1D), (D)-{IID)
@ @O ®-AdD. -1, O-AV)

[Question ID = 2698][Question Description = Q20_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10789]

2. 2 [Option ID = 10790]

3. 3 [Option ID = 10791]

4. 4 [Option ID = 10792]

Correct Answer ;-

» 1 [Option ID = 10789)

Sagun purchased a smartphone at 9/10%® of its selling price and sold it at 8% more than its
selling price. Her gain is

1) 10% 2 12%

(3) 18% 4 20%

WA 7 Th T FF 306 %7 709 9109 Yoa W BiE1 a9 56 56 o6 9ed o 8% 31 W s |

IHF 1Y 2
(1) 10% (&) 12%
(3) 18% (40 20%

[Question ID = 2699][Question Description = Q21_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10793]

2. 2 [Option ID = 10794]

3. 3 [Option ID = 10795]

4, 4 [Option ID = 10796]

Correct Answer ;-

e 1 [Option ID = 10793]

7)  If CHARCOAL is coded as 45164913, how will you code COALCAR?
(1) 4918413 @) 6194314
3) 3104416 ) 4913416

A7 2 9 § CHARCOAL % 45164913 Tor@n =, @i COALCAR i 6w vr forman smom?

(1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
4, 4 [Option ID = 10800]

Correct Answer ;-
e 1 [Option ID = 10797]

Looking at a photo of a man, Ravi said, ‘His mother 1s the wife of my Father's son. I have no
brothers and sisters’.
At whose photo was Ravi looking?

(1) His Cousin (2) His Son

(3) His Uncle (4) His nephew

frdt TeY % BIel R % o U 9 Fa, CsEehl Al W fuer % g R ool 2| S0 R Wil a1 wE
L O e e,
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LR T ] e = e me = - = —— am e - gt - -

(1) =19 ==’ 9Tg /9 (FoA) (2) T
(3) o =T (4) =9 i

[Question ID = 2701][Question Description = Q23_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]
3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804)

Carrect Answer ;-
& 1 [Option ID = 10801]

Gaven below are two statements :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly,

then 1t 1s called compound interest,
Statement IT: The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement Il are false
(3 Statement I is true but Statement II 1s false

(4) Statement I 1s false but Statement IT is true

fRIsmfem? .

wE (T): 78 Pt oy & o ™ =0 = =3 i W & TE A I 2, 3@ 98 S sty S

e ¢ |
woE (D) : el st % o o off 78 s1yen =601 9 7T AN TR ST FEeTd! £ |
IRE FIT F e A, -9 e e e § ¥ w5 s wm wm Al
() o Iai Al g |

2 FFEIAROI 53 2 |

(8) T 15 3, e Hu 1T 319 2 |
(4  FF 1 3EE 2, T wem M acT 2|

[Question ID = 2702][Question Description = Q24_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10805]

2. 2 [Option ID = 10806)

3. 3 [Option ID = 10807)

4. 4 [Option ID = 10808]
Carrect Answer ;-
» 1 [Option ID = 10805]

20) Match List I with List IT With respect to completion of sentences

Tast T Tast TT



www.prepp.in

(A)

B)
©

D)

The sum of first forty five natural
number is

The least prime number i3

The total number of prime numbers
less than 70 1s

On dividing 4150 by a certain number
the quotient is 55 and the remainder
is 25, The divisor 1s

I 19

(In 75
(III) 1035

Iv)y 2

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)

(A)-(ID). (B)-(I1D), (C)-(I). (D)-IV)
(&)-ID. (B)-ID). (C)-(IV). M)-(D)
(A)~(IID). (B)-(IV). (O)-(D). (D)-(ID)
(A)-(ID). (B)-(IV), (C)-(II). (D)-(I)

H=h-1 % @ g1 =1 faem it 5@ v Hifom B o 3o gt s

gt

o Yarefid wpfos wemat = an 2
o Bt ¥ T 2 |

Tt U DI Tg GEATS = FA T 7

(A)
(B)
©
D)

o)
(2)
3
@

e 4150 # fRf @en g a1 W
e 55 IR IY 25 g1 2, Of WeE 2
4= feor o et A o @ 3o @ =A i

(A)-1D, (B)-I1D), (C)-M), (D)-aAV)
(A)-1ID), B)-(ID. (O-AV), D)-D)
(A)-(IID), (B)-AV), (C)-(D. D)-AD
A)-ID. (B)-(IV), (O)-(ID), D)-D

gi-11

@ 19
Iy 75
(ITD) 1035
Ivy 2

[Question ID = 2703][Question Description = Q25_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]
3. 3 [Option ID = 10811]
4, 4 [Option ID = 10812]

Correct Answer ;-
a 1 [Option ID = 10809]

Given below are iwo statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) :

Reasons (R) :

In the light of the above statements. choose the most appropriate answer from the options

fallacious.

because of the absence of the major term, the middle term is also absent.

given below :

(1)
()

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Bath (A) and (R) are carrect and (R)Y 1a NOT the correct exnlanation of (A}

The argument “Everything 1s nameable because 1t 18 knowlegable” 1s

There is nothing that is not nameable and I cannot find a place where,

prepp
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(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Hi= g1 e fau e 2 ;s iR (Assertion A) % =q 1 fufiga 3 a1 g@u su% ®rw (Reason R) +

'{i_\":i'ﬁ
AT (A) : Th — T F%g 1 A9 =7 GHdT 2 Fih 97 39 (Tersed) & 9HE 2
wR0 (R) : Ui g ag @l foraeht T T8 o aehar Sii # U =i UM E A 2, e e 16

garzg w2

SYLIE U % 3Tl |, A= i 1 foeredl 9 ged ST ST W 9 hife

(1)
(2)
(3)
(4)

(A) 3T (R) 371 78 2 3ik R). (A) F = =7vem 21
(A) 3R (R) I1 et 2 o (R). (A) Fit 781 =ame 72 2 |
(A) TE 2 | (R) Tl 781 2 |

= R

(A) T TEI 3 = (R) TR 2

[Question ID = 2704][Question Description = Q26_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]

4. 4 [Option ID = 10816]

Carrect Answer ;-

» 1 [Option ID = 10813]

22)

Given below are two statements :

Statement I: The terms ‘true’ and false apply to arguments.

btatement II : The ferms “true’ and ‘false’ apply to statements.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 18 true but Statement II 1s false

(4) Statement I 1s false but Statement IT is true

[ N, T

TR R Rom? .

F () : ‘W S o UG a9 W AF] 2 @ |

o (D) : W S e’ 0 B o e B A

I FIF 5 S 8, A fow o fared 8 8 w2 s w == Al
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(1) FW IR T T F |

(2)  www I et IS o79e 2 |

(3  ®W 1T 2, A Y I 318 2|
@  FF I 2, At Fu a2 |

[Question ID = 2705][Question Description = Q27_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]
Correct Answer :-
# 1 [Option ID = 10817]

Given below are two statements :

Statement I: The fallacy of contradictory middle (viruddha) occurs in an argument when
the middle term 1s found both where the major 1s found and where it 1s not

found.

Statement II : The fallacy of contradictory middle (viruddha) is committed in an argument

when the middle term 1is found only where major term is absent.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement I1 1s false

(4) Statement I 1s false but Statement I1 1s true
A 31 o Ru T g
o () ;  Trelt o o fmg geamam oo gig7 2 59 &g g1 B Tl 8 amn wiman & - 59 w@eg w0 ua
T S HIT IHPT GaT A1 o |
o (1) : Trali o o fovg 2ener| o9 21 2 =9 2q 1 gar a4 o S g 9 w® |
IO YT F oNE H, 9 B 0 feedi A 9 OE IR W 99 e
1) = IR I o £ |

(2)  FF LR I3 5 2 |

(3) FWITAZ, e = 3w 2|

(4) w1 ooe 2, St S H o 2

[Question ID = 2706][Question Description = Q28_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10821]
2. 2 [Option ID = 10822]

| 3. 3 [Option ID = 10823]
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Carrect Answer ;-
& 1 [Option ID = 10821]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  For Naiyavikas, logic i1s not formalized and divorced from existence.

Reasons (R) : Naiyayika's interest in logic 1s for finding out the truth about the existent
world, but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) 1s not correct but (R) 1s correct

T F1 w f3u e € ;U YA (Assertion A) % ¥ H fafiga 2 a1 gHU 35% %W (Reason R) &

E‘?ﬁ
A (A) : SRR o STHEN, O ATPREE T8 Bl € 991 A2 3ifica § fafes— g 2|
F107 (R) : a6 A Tt 6 sy fHamm Sy % ooy % 9 o o 2, T R e I o g

Terem = wreAl it ged | |

IHIT HYF H e 1, = div e et @ ¥ ged g ST 1 9E i

(1)
(2)
3
€

(A) 3t (R) 37 T 2 ofk R). (A) i =d =men 21

(A) 3R (R) 2T w21 & A (R), (A) i @& =ame 7= 71
() 9Et 2 S (B) w2 78 21

(A) &t 3 2 ST R) wd 2

[Question ID = 2707][Question Description = Q29_GP_Set8_51_5hift2]
1, 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3. 3 [Option ID = 10827]
4. 4 [Option ID = 10828]

Carrec

t Answer :-

» 1 [Option ID = 10825]

1.

Socialized medicine 1s not recommended because i1t would result in reduction of the over all
quality of medical care. In addition, it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What 1s the conclusion in the above argument?

(D) Socialized medicine 1s not recommended.

(2) Sociahzed medicine would result in reduction in the overall quality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

(4) There are overwhelming arguments against socialized medicine.

auitrpe sitafer A smen 4 oo 3 =it s fafear S A wegl e § s g s
AT, 399 W Tore ol fiafemn 21 e | 97 wEweiea st 6 gl Fert 21 Sudea o w9

Frowg 37

(1)  oufica siafer =1 s 78 ) wwd 2

@  wuhpd et o fafremn e i gl e 9 g g
(3)  wumiiFd vty & g vy farferm gt s |

4)  wnelE sl % faeg mogg o fog e 2

[Question ID = 2708][Question Description = Q30_GP_Set8_S51_Shift2]

1 [Option ID = 10829]

2. 2 [Option ID = 10830
3. 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

Correct Answer ;-
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| = 1 [Option ID = 10829

26) . ’ ; : . .
With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
(3) RAM and Cache (4) Cache and ROM

FHOHR % To-Y U FrAfeIiad § @ FH | g *hdol dreneisa Jurd w87

(1) R =Ea () =E f&Tew o 0|
(3) 19 3w 4) w I im

[Question ID = 2709][Question Description = Q31_GP_Set8_51_Shift2]
1. 1 [Optien ID = 10833]
2. 2 [Option ID = 10834]
3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]

Correct Answer ;-
e 1 [Option ID = 10833]

27) Identify the correct order of the following INTEL processors in the decreasing order of speed.
(A) 80486
B) 8085

() Dual Core

(D) Pentium - III

Choose the correct answer from the options given below :

D D). (). B), A 2} (0. D). A). (B
@ ©.O.B.W @ @®.D) Q). W

frerfafias soa (on8.va.91 4 uw. ) TR Fi ged 30 7 % %9 & = A d fafea

(A) 80486

(B) 8085

(©) 33+
©®) e -0

=5 o U famed 8 o T8 ST W 99 e

1 @D).©). B @ 2y (©. D), A). B
3 (©.D,B). A 4 B, D), ). &

[Question ID = 2710][Question Description = Q32_GP_S5et8_S51_Shift2]
1. 1 [Option ID = 10837]

2. 2 [Option ID = 10838]

3. 3 [Option ID = 10839]

4. 4 [Option ID = 10840]

Correct Answer ;-

e 1 [Option ID = 10837]

Given below are two statements :
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Statement I: TUSB drives are also known as flash drives.

Statement IT: Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit slhips 1s known as MICR.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II is false
(4) Statement I is false but Statement IT is true

w9 (D) guE . giea T ged F w9 1 o 9@ 9 £
Fo (II): =% I F-U=h % e 4 I @ Tt w W e 5 o Sw ghn wed 3.
R, o77S H1.3, % T " S S 2 |
IR U = e A, Hi faE T fament § ¥ ugl 39 % w9 hifa
(1)  #om ek I EA o 2 |
(2  wE IR ISl omeT 2 |
(8 [ Iue g, s o 11 orme 2
(4) w9 I w9 2, S w9 a0 2|
[Question ID = 2711][Question Description = Q33_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]

3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844]

Carrect Answer ;-
& 1 [Option ID = 10841]

Which of the following are software?

(A) Adobe

(B) Web browser
(C) Compiler

(D) Device Driver

Choose the correct statements from above :

(1)  (A), (B) and (C) only (2) (B). (C) and (D) only
(3) (A), (C) and (D) only 4) (A, (B) and (D) only

freaferfiaa § @ = diveam 27
A TEE

(B) o HiZH

(C)  FFIEer

D) feama g
1 feu U fempeat 1 © T SR = 9Ed hifAy ;
(1)  FaEa (A). (B) IR (C) 2 =ad (B), (C) 3 (D)
(3) = (A). (C) IR D) (@ +I9 (A), (B) 3R (D)
[Question ID = 2712][Question Description = Q34_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10845]
2. 2 [Option ID = 10846]

3. 3 [Option ID = 10847]
4. 4 [Option ID = 10848]

Correct Answer ;-
e 1 [Option ID = 10845]

Match List I with List II

List I List II
(Name of Company) {(Founder)
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(A) Apple Inc. (D N.R. Narayana Murthy
(B) Microsoft Inc. (I) Steve Jobs

(C) Infosys Ltd. (IIID Bill Gates

D) Airtel IV) Sumnil Bharti Mattal

Choose the correct answer from the options given below :

1) (A-dDb. B)-AV), (O-AD. M)-D
2  (@)-AV), B)-1D), (C)-II), D)-(D)
(3  A)-aD, B)-av), (C)-O), (D)-AID
@  @-aDh. B)-ID. (O)-O. D)-IV)

gH1-1 % T g1-I1 1 e it
-1 T I
FIHT % M HTATTH
(A) wUTE T, 0 . IR FRE
B vEHER TF. aD = i
(C) whiftw fafite aID foer iem
D) U @V) Gits wt fore

#r= fou Mo famedt B @ w9 s %1 oA At

(1)  @A)-D. @)-av). (C)-0D), D)-D
@  @A)-IV), (B)-1ID, (C)-aI), (D)-D
3 @D, B)-IV). (O)-D. (D)-dID
@  @-1D. B)-UID). (O-O, O)-AV)

[Question ID = 2713][Question Description = Q35_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]
3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852
Correct Answer ;-

« 1 [Option ID = 10849]

According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels is to be reduced to the extent of

g8 1/2 (Half) (2) 1/3 (One third)
(3) 1/4 (One fourth) (4) 1/10 (One tenth)

uroff T wafgai O @ o o oER, @eu St suwe Wt W yia =ufra dfvas sman-sfar #i e

AT doF TEET W
QO 172 (sna) @) U8 (uF fer)
(3  1/4 (v =) @ 110 (v% )

[Question ID = 2714][Question Description = Q36_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10853]
2. 2 [Option ID = 10854]
3. 3 [Option ID = 10855]
4, 4 [Option ID = 10856]

Correct Answer ;-
e« 1 [Option ID = 10853]

32) According to WHO standards, the pesticide content (Lindane or DDT) in drinking water
should not exceed

(1) 1pgL™ @ 2 pgLt
(3)  5ugL? (4) 10 ugL-1
fova = WTe % AR UF W ° Hiews 6 aEn (e m En g A q e 1o

ZH =z
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QD 1 ugla (2) 2 pglit
(3) 5ugl? (4) 10 pgLA

[Question ID = 2715][Question Description = Q37_GP_Set8_51_Shift2]
1. 1 [Option ID = 10857

2. 2 [Option ID = 10858]

3. 3 [Option ID = 10859

4. 4 [Option ID = 10860

Correct Answer ;-

« 1 [Option ID = 10857]

33) Which of the following Pollutants has the least residence time in atmosphere?
(1)  Nitric Oxide (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane

b

1 5§ T T W a1y § A Uy e 8 ¢

(1) AP TS (2) A5ed HEES
(8)  FEA - - (4) am

[Question ID = 2716][Question Description = Q38_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10861]
2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4, 4 [Option ID = 10864]

Correct Answer ;-
e 1 [Option ID = 10861]

34 Noise levels (db) are referenced to the human hearing threshold at a frequency of
(1) 50 Hz (2) 100 Hz
3 1 KHz (4) 4 KHz

e sgfa T AHa-yam-SEEmE H1 e TgEm TR (3L ) W gy Fem i s 27

() 50Hz (2) 100 Hz
(3) 1 Khz 4) 4 Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868)
Correct Answer ;-
* 1 [Option ID = 10865]

35
) International Solar Alhance Framework Agreement entered into force in the year
(1) 2015 2) 2017
(3 2016 4y 2018

ARG TR T H (ST HieR ST BEas wiibe) @y ge?
1) 2015 @ 2017
3 2016 (4 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_S51_5Shift2]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4, 4 [Option ID = 10872]

Correct Answer ;-
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| 1 [Option ID = 10869]

In Banabhatta’'s Kadambri, good education has been described as having knowledge of 64

Kalaa or arts. Among these 64 Kalaa, Which among the following subjects were included

(I)  Only arts such as Singing and Painting
(2)  Only arts and vocational courses
(3) Arts, vocational courses and Medicine

(4) Arts, vocational courses, Engineering, Medicine, Mathematic, Science and Many

other subjects.

Tz i Feml °, IO Hen W 99F 64 Fuedl W AW WH % FU H TR T 21 3 64 woned H
faferfiga W 9 =+ gibfeoa 97

1)
2
(3
4

el STEET TIgA%a 31T Ferrl
FEAE, AR TAFH, APYfeisr
FeAld, =t raawd, sifEnf=eh, smfsm, ie-se, e st w8 s faen

[Question ID = 2719][Question Description = Q41_GP_Set8_51_Shift2]
1. 1 [Option ID = 10873]
2. 2 [Option ID = 10874
3. 3 [Option ID = 10875]
4. 4 [Option ID = 10876
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Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Doing Inter — disciplinary research is more challenging than that in within

any single discipline.

Reasons (R) : It 1s not possible to combine knowledge from two disciplines.

In the light of the above statements, choose the correct answer from the options given below :

(L
(2)
(3
(4

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 18 true

= 3 FoF feu 7w 2 ;. oF AR (Assertion A) % ¥4 H fafiga 2 91 390 S5 HRW (Reason R) #
Wﬁ:

AT (A) s v wie wen wfees g gt 2, PR v sreel T % et fRT e Ty

#i g A |

F (R) : 3 e o e [ O O a2 |

I HYF T ANT °, 9 30 T Beeed § § 93 I % 99 i

(1)
2
(3
(4

(A) 3 (R) IA1 w2 & ot R), (A) Fi wdl =i 7

(A) 3 (R) 21 wed & s (R), (A) it @t = =8 2|
(A) BT 3 @fF (R) o153 21
(A) 37T & I (R) T3 2

[Question ID = 2720][Question Description = Q42_GP_Set8_S51_5Shift2]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
3. 3 [Option ID = 10879]
4, 4 [Option ID = 10880]

Correct Answer :-
e« 1 [Option ID = 10877]



www.prepp.in

38)

Empirical studies have shown that the women students are under represented in the
disciplines such as science, technology, engineering, and mathematics (STEM). Its possible
reasons could be

(A) Women students do not feel comfortable with STEM subjects.

(B) Women students cannot excel in STEM subjects

(C) Woment students lack in aptitude in STEM subjects

(D) Women students face threats due to negative stereotypes.

(E) Women students are not encouraged by the parents to join STEM disciplines.

Choose the correct answer from the options given below :
1) @A), (E)only 2y (B). (E) only
(3  (C). (D) only @ (D). (E)only

IR Al 5 gmEn 2 R Aften e o fmm, s shenfeeit o nftm (mmAs )

3
(A)
B)
©)

)
(E)

it
Y

(3

ot 0 1o gTafafacg 2 | o5 TEgTd R0 2 T9d B

Aften-fernefior (v dtd.uw, ) faedt o e wew s T w2
Atz -feemeftor (vg.fi3m.) faw 4 som ewn T oW w2 |
Afeen-feensfimn =1 (Te 3 wm.) o d siftrsfar =1 svma 2

ATEAT-Ternefior ThcHs Sigagar = R GHFRT I Gl B 2 |
Htgen-ferznefior =t 396 wrar-Tiar & g (vadisen.) oot o & & foro senfga w8t oo s

2
feu 7y ferpeat O o wE ST =R HET il

Fad (A), (0. (E) @) Fa4 (B), (E)

%aet (C), (D) 4) = (D), (E)

[Question ID = 2721][Question Description = Q43_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]
3, 3 [Option ID = 10883]
4, 4 [Option ID = 10884]

Correct Answer :-
& 1 [Option ID = 10881]

(Gaven below are two statements :

Statement I: A hoshstic and mulfl — disciplinary education aims to develop intellectual,

aesthetic. social. physical, emotional and moral capacities of students.

Statement IT : In 215t Century persons require only intellectual capacity to be successful.

In the light of the above statements. choose the most appropriate answer from the options

given below:
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\L} JDULIL OLALSITICIIL L A1 OLAaLeIeIIc LE AT LEUCE
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 1s false

(4) Statement I 1s false but Statement II 1s true

we (D : U Gud 3R ag-Fmas-fen @1 siva Fenfie % sifgs, gied-weim, gt awiies,

e ot Afaes amanstt = e 2

w9 (D) : 217 s § =fFaa) F 95 2F 5 70 Sae Sigs SEar $ STayTEEdl T 2 |

YT YA % ATAF H, Ao &3 T fameat § ¥ ued Suge It o W= A
(1) =EIsIlaAisad |

2 T I3 IIEH o 2 |

(3) = Iuea 3, afes w9 I o187 2|

(4) wy Iomme 2, A U IO 2

[Question ID = 2722][Question Description = Q44_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3. 3 [Option ID = 10887
4. 4 [Option ID = 10888)

Carrect Answer ;-
& 1 [Option ID = 10885]

Global Citizenship Education (GCED) aims at

(A) Making students to become members of U.N.O.

(B) Helping students to understand contemporary global challenges.

(C) Making students to become promoters of peaceful societies.
(D) Making students eligible to join foreign services.

(E) Making students eligible to become diplomats.

Choose the correct answer from the options given below :

(1)  (A), (B)only 2 (B), (C) only

3)  (C), (D) only (4) (D). (E) only
Afvass amitsar e (158 =1 s 2

&) R = 9.0, w1 vewr w1 % o SAm e
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B) Renil = aramtes dfvas TR e 1 ggeE w3
(©)  Tomnidfai =i Wil G =1 SicHTeal S % RIY AR )
@) Frenfial = fm St 4 91 F T ==

(B) Tt =6 usiies a9 & @ g

= fou o feepedi § 9 @ s = = it

1 == A, (B 2) Faa (B), (C)
3  F (C), D) @ a4 (D), (B)

[Question ID = 2723][Question Description = Q45_GP_Set8_S51_5Shift2]
1. 1 [Option ID = 10889]
2. 2 [Option ID = 10890]
3. 3 [Option ID = 10891]
4, 4 [Option ID = 10892]

Correct Answer ;-
e 1 [Option ID = 10889]
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Topic:- GP_Set8_C

1)

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to trv. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
1njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is central to the theory of justice?

(1)
G)

Reasoning on a subject (2) Difficult interpretations
Subjective engagement (4) Identification of an issue

= % forgia 1 AaEma F gy A vE T F 9R § 996 % SI9eE w O] FH Y weigd 7H 4 8
o Tawa o = S0 forema s/e® A W 3@ e wga St samn 21wt 13 g fen s 2
=1 i @k = faug feeiga w81 war o @t 98 599 @ v 8 T swee ghe % a-me st
e WO | T ET ° We F o R 3 oE R | S % Y, 5w g6 9 @ B R s svee
$i fofa 4 = g s % 9R 0 franyds ah-faad v F e sgw fomta e w=mnfas 2 )
7TTE HE AN adl Th TuFd iR e e e s, an e sw g 3 am o oW

L ™ r i i~ " Lot
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1999 H HARMICH i 4 dha 2, MHE S oh A H AR AR ] IshAD BN H dsh he HIL Al sleh
Frdl T % sTadi®A 8 H=E % AgE A 90% Sed I AE B | 6 Afalid, SE % A saeE
T TH AT A9 T geAaA i go ° Al S 3R gam ® | T m-faem e & g O
ST qh & Thd & 3 =T/ B Gearha 33 i & Tohar 3 W @Y @Y |y = % aehgda giare
1 lEr 58 FRuwdisn ¥ 78, afew sqawn aun =" % Wi gt 9 8 T 2 ) sfoed e & T
T A S W @B - s e gedl it S TmR W 2 a1 S wRaTs e % STER F
an § v < feafd ° 2 svren sl Aifd % omar i S A % 39gE 6 8 | AF % fuged
AETEHA § =AF I A % FEE ¥ 7% 6 9w 2 2| ¥Fsi an | fava F Gl v 4 == F

oy A e A S A S o FY Y 3 % R ashyyl fee i o1t 9 3g difgs omar
e i 1 T R 2

=T o g o hg o 27
(1) Tt e = i 8 @ 2 faftm= =
(3) =AfFarE e (¢ Trdi g =1 e

[Question ID = 2724][Question Description = Q46_GP_SET8_51_5Shift2]
1. 1 [Option ID = 10893]
2. 2 [Option ID = 10894]
3. 3 [Option ID = 10895]

4. 4 [Option ID = 10896]

Carrect Answer ;-

1 [Option ID = 10893]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to trv. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is the simplistic view about justice?

1)
@)
(3
(4)

It 1s a matter of reasoning
It is being appropriately made aware of injustice
It 1s of very little significance

It is a matter of protest

= % frgia 1 sTavEEd w1 gay el W T % 9n F 9% F S i aF) F § TEid 56 § 3

=

Torges faug ° o 9 forearg w@e 4t 39 wE 9ga ST sarn 2 wft-wsft 747 gar e s 2 e
=T W T W o R T e o TRl T8 S99 ¥ U 2 (S Sug9a HaET % @g-T STE i
& @97 37| 39 B9 ° gieA % fore S 2 emae 2| Sare % fore, 99 gm i 2 R e sfaor v
£ e 4 = @ = % R °§ ReangE® wh-feh wE f sna s faa Fon ek 2 |
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YT 3 IS AW UF 1T ¥ OHdl B MG SO FIERY TRAT W %, a9T TaNN ¥ ¥ 9 o A 39
formm o FEmoTeas B W Twd 8, UHT BE % W@ 4 o1 & | RE ®U 3 9% g sl o, sfew
et T STaE § oI % (eM i 9UF fe I AT 2| TUF SifaiNad, o F e sEenEe
R, 9 AT SAT9ET % A gent 3 SR wied S gam 3| gwi fe-fe frerl % gae
ST 3T T 2 Thd 3 SIR = 1 Joara $9 fl 7 oha1 2 | g WY W = % awhged Staed
+1 URER T2 FREHasT U T8, afc sTaw a1 = % AGRE S O 3 o 2 | sfeem TaE ¢
U Had 31 B 9 @ 3 - T Femm gadl gftem, 97 TR W8 2 81 S RIETE B 6 STER
i # e it Rafa d 2 swen ol fifd % onar i sEdR 9 % egw 9 8 | = % fuge A
STl § =AM a1 = = Fg@ 4 @ i gfee 2l 7| Sst ant @ Bya % e w4 = %
wEy ¥ o Tt SR A S g Y O o % R wee fem fi otk 9 Rg sifew emaw
YeH G T R 2|

=T % T § TN fem T 27
(1) == @ = g 2
(2) T WM % 91 gYfud B Y S UTH o

(8) 9z wiga B9 HEeAyol 3 |
@) TEERu=fRm

[Question ID = 2725][Question Description = Q47_GP_SET8_51_Shift2]
1 [Option ID = 10897]
2 [Option ID = 10898]

Correct Answer :-

1.
2.

3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900

e 1 [Option ID = 10897]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only 1if it ecould have been prevented. and particularly if those who could have undertaken

preventive action had failed to trv. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
serutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

In the case of a calamity. it should lead to a feehing of injustice when

(1)
2)
3
4)

It 15 left unobserved
It affects vulnerable people
Concerned authorities did not make an attempt to prevent it

Concerned authorities did not know how to prevent it
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[Question ID = 2726][Question Description = Q48_GP_SET8_51_Shift2]
1. 1 [Optien ID = 10901]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10904]

Correct Answer ;-
e 1 [Option ID = 10901]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoming at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to trv. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
1njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

Avoidance of reasoned justification can be sourced to

(1)
@)
(3)

5 ol

Protectors seeking justice
People unaffected by policy - decisions

The public not interested in justice
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[Question ID = 2727][Question Description = Q49_GP_SET8_51_5Shift2]
1. 1 [Option ID = 10905]
2. 2 [Option ID = 10906]
3. 3 [Option ID = 10907)
4. 4 [Option ID = 10908]

Carrect Answer ;-
& 1 [Option ID = 10905]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved 1n moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
1njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.
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(1) A general sense of the i1ssues
(2) Empirical analysis of injustice
(3) Intellectual evaluations

(4) Historical traditions
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[Question ID = 2728][Question Description = Q50_GP_SET8_51_Shift2]
1. 1 [Option ID = 10909]
2. 2 [Optien ID = 10910]
3. 3 [Option ID = 10911]
4. 4 [Option ID = 10912

Correct Answer -
e 1 [Option ID = 10909]



